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Question Number : 1 Question Id : 630680364996 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

2022 §°5)) T& 100 27D@ 3’8 83 BCHE3 2B BdADH S0 DE?
Options :

1. % 203°5°Q

2. % 3o

3.4 8230 D

4. % 35D

Question Number : 1 Question Id : 630680364996 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which is the first Indian company to be named in the 2022 Forbes Cloud 100 List?
Options :

1. ® Biocon

2. % Paytm

3. ¥ Razorpay
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4. # Infosys

Question Number : 2 Question Id : 630680364997 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

2857330 2023 2SS F0S [BHV Bar)S) PR (GCRG) TPODONS) (RS BOOA. & H0dS 0 808 ¢3S
DB (HEES D&?

L GCRGQ %578 202265 2085072350083 EES 2833 o) TFS.

II. GCRGQ 20TTES, 2r8)ER, By, 23852, QOB I A0 835w DXHS HOS/HOGOS 3G S tr00NS) (e
DEESENOB.

ML HEDF SES 0050 GCRG (DBAHEL T )T QOHDOIDTTR.

Options :

1. ¥ T 08050 1T S5

2. % 3de0 11

3. % 11 08050 T &5°(eb o0

4. % 111 0005 111

Question Number : 2 Question Id : 630680364997 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

India joined the Champions Group of the Global Crisis Response Group (GCRG) in July 2023. Which of the following statements is
correct in this context?

I. The GCRG was set up by the United Nations Secretary General in March 2022.

II. The GCRG is overseen by the Champions Group comprising of HOS/ HOGs of Bangladesh, Barbados, Denmark, Germany, Indonesia
and Senegal.

II1. Parameswaran lyer designated as Sherpa to the GCRG process.

Options :

1. % Only [ and II
2. % Only II

3. # Only Il and III
4. % [, 1l and III

Question Number : 3 Question Id : 630680364998 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

DB B 0T FE HODO0EO0D (HDD0TY S025 1 QYD NONOP, a8 S°ENS S arored 852 §OR
") C8). 88 IS I8 BH 2Gen FET?

Options :

1. % 90 S0&SO

2. % 0803 QB>

3. % DE HoErR

4.9 DD

Question Number : 3 Question Id : 630680364998 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Novak Djokovic holds the record for most weeks as world number 1 tennis player, men's or women's. Whose record did he break with this
achievement?

Options :

1. ¥ Ivan Lendl

2. % Maria Sharapova
3. # Pete Sampras

4. % Steffi Graf

Question Number : 4 Question Id : 630680364999 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In July 2023, India signed a Memorandum of Understanding on the Local Currency Settlement (LCS) system with which of the following
countries?

Options :
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1. ¥ Qatar

2. % Kuwait

3. ¥ United Arab Emirates
4. % Saudi Arabia

Question Number : 4 Question Id : 630680364999 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

2023 2B, 808 BFeS’ Q B30 SES E8D) VIS0 (LCS) 5539030 27BHTIFO 9IS 2063 )00
D0BZ0 TOOK?

Options :

1. 8 &0

2. % 5038

3. ¥ BNJTBE 982 DANTE)

4. % 2 ©BDOS>®

Question Number : 5 Question Id : 630680365000 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

1585 (28 (BRICS) BDT{5 30 )80 €3¢85 503 THO Q&2
Options :

1. % 2353350

2. % J°

3.9 580 D5

4. % s

Question Number : 5 Question Id : 630680365000 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which country will host 15th BRICS Summit?
Options :

1. # India

2. # China

3. ¥ South Africa

4. ® Russia

Question Number : 6 Question Id : 630680365001 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

OTTPSE (1370 (X0°59) 20 3573 @9 53389 §00 MOXIEQ &) BF0 @9N9Q TI0E?
Options :

1. % 2r35330

2. ¥ 28I

3. % 8arg

4. ¥ USA

Question Number : 6 Question Id : 630680365001 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which country developed MOXIE for human exploration of Mars?
Options :

1. ¥ India

2. % Japan

3. ¥ Russia

4. ¥ USA

Question Number : 7 Question Id : 630680365002 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0
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Correct Marks : 1 Wrong Marks : 0
2022 0 5285877070 DB Lo NS) LVM-3, o) B7°08 TOOSE?
Options :
(B EVNN
2. 8 J°
3. % 08
4. ¥ PBSHTIFO

Question Number : 7 Question Id : 630680365002 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

LVM-3 which is operational since 2022, is associated with which country?
Options :

1. ¥ France

2. ® China

3. % UK

4.+ India

Question Number : 8 Question Id : 630680365003 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

INCOVACC 5800 808 a3¢3¢S° OB dE?
L. @8 COVID-19 § 502080 (DNHOHVOES ) INEDNCIES RO(EFTS F58)S.
1. &AQ 23S 2B BT @NIHQ TIOK.

Options :

1. % 150

2. % 11 S0°(eH

3. ¥ 1000 11 BOLsy
4. % 150 S 11 57 5°¢0

Question Number : 8 Question Id : 630680365003 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is correct about iINCOVACC?
I. It is world’s first Intranasal Vaccine of COVID-19.
II. It is developed by Bharat Biotech.

Options :

1. % Only I

2. % Only I

3. ¥ Both [ and II
4. % Neither I nor 11

Question Number : 9 Question Id : 630680365004 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

808 ¢3S O DO(Beh ¢ T "2uE TBO 28 [(HDTRHF! (DTS SBE00 20238 220650 EOAH0E?
Options :

1. % T 09 @ 0O 359708 ed sDO(edeh § T

2. % &S8O HOAN E0EN02) DT 0|36 ¢ T°

3. % TR0 5593T°) s00(e3¢h § T

4. ¥ ) @0& BS®) @28 00(edeh § T

Question Number : 9 Question Id : 630680365004 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following ministry is associated with “one week one lab” campaign 2023?
Options :
1. % Ministry of skill development and entrepreneurship
2. # Ministry of health and family welfare
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3. # Ministry of home affairs
4. % Ministry of science and technology

Question Number : 10 Question Id : 630680365005 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
e e RBDON L.

08 HYV Dédaren
I Fela) 1 | sogh Fo
| Feoso 2 | NRCHB-506
I | eseomew 3 | SAVA 127
Options :
1. % I-1, I1-2, I11-3

2. % 1.2, 1I-1, I1I-3
3. % 1.3, 11-2, 11I-1
4. % 13, 11-1, 1112

Question Number : 10 Question Id : 630680365005 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Match the following.

Crop HYV Seeds
I Rice 1 | Karan Shriya
II Wheat 2 | NRCHB-506

11 Mustard 3 SAVA 127

Options :

1. % [-1, 11-2, 11I-3
2. % 1.2 1I-1, III-3
3. % -3, 11-2, II-1
4.9 13, 11-1, I11-2

Question Number : 11 Question Id : 630680365006 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

808 ¢35 & DO FASS DS OB § 2021 ABF0DOE?
Options :

1. ¥ CBSE

2. ¥ NCERT

3. ¥ UGC

4. % AICTE

Question Number : 11 Question Id : 630680365006 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following organisations conducted the National Achievement Survey 20217
Options :

1. ¥ CBSE

2. % NCERT

3. % UGC

4. % AICTE
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Question Number : 12 Question Id : 630680365007 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

& RIS FTE 2SS HTHBOTIDAED SN0 SHBON eTHI0D ABOE (D5°B0, 20196 2SHTIFO €oed DS
HowseS D00 BT STTCH IO,

Options :

1. ¥ 5030 5PN 50

2. % COVIDI19

3. % PFASS STHo

4. % 58

Question Number : 12 Question Id : 630680365007 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

As per the report on pollution and health published in The Lancet Planetary Health, India registered the largest number of related
deaths in 2019.

Options :

1. % air pollution
2. % COVIDI9
3. # malnutrition
4. % flood

Question Number : 13 Question Id : 630680365008 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is correct according to NFHS-5 (2019-21)?
I. The number of females per thousand male is greater in Rural Area.
II. The number of females per thousand male is smaller in Urban Area.

Options :

1. ¥ Only I

2. % Only II

3. % Both L and II
4. ¥ Neither I nor IT

Question Number : 13 Question Id : 630680365008 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

NFHS-5 (2019-21) [5°30 §0& |88 D& OBSE?

L 069 (3050 (963 SO0 S SH0E $)BEDOR €8¢H78 DODS VY.
IL HEE (BFPOHOCS (D3 FONS DO HBIVOI0 €366 HDOWS 530).3.
Options :

1. % T S°(¢hodd

2. % 1 S0°(ehad

3. ¥ 1000w IT Bocy

4. % 1520 S 11 5°Q 5°¢0

Question Number : 14 Question Id : 630680365009 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

FOS 1000 2P0 (TS SEHED0 DD ENS0S” Bcses FeroeS DO 0D 0DIHAD SR
RS aMENoTaY

Options :

1. %10

2. % 100

3. % 500

4.+ 1000

Question Number : 14 Question Id : 630680365009 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0
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Correct Marks : 1 Wrong Marks : 0
Paalan 1000 National Campaign focuses on cognitive development of children in the first days of a child’s life.
Options :
1. %10
2. % 100
3. % 500
4. % 1000

Question Number : 15 Question Id : 630680365010 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
B D) REBDOY0G.

£5530522) eTPE 2R
|| 265 essvo 1 | 2266
I | &S esao 2 | 6oz
1 E'J"g“ﬁ-é 3500 3 | DoedDoc

Options :

1. ¥ -1, 11-2, 11I-3
2. % 1.2 1I-1, III-3
3. % -3, 11-2, -1
4. % 1-1,11-3, I1I-2

Question Number : 15 Question Id : 630680365010 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Match the following.

Acid Natural Source

I Acetic Acid l Vinegar

I Citric Acid

2]

Orange

III Tartaric Acid 3 Tamarind

Options :

1. ¥ -1, 112, 111-3
2. % 1.2, II-1, 11I-3
3. % [-3, [1-2, 11I-1
4, % 1.1, 11-3, 112

Question Number : 16 Question Id : 630680365011 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

BSOS AT (92750 180D 80& a7¢3¢S° HBIE DE?

L 28 Q¢S reased § £aehE0 DO THE ST SBe0HS0E.

IL DED0T §), SBEN S3S)O 50 S0OAN 230e8YOE Trer FAISPOMS IR VINIAY

Options :

1. % TS0

AR NG

3. ¥ [ 0805w 11 Bo&y

4. % 150 S 11 5°Q 5°¢0

Question Number : 16 Question Id : 630680365011 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following is correct about Impact of Algal bloom?
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L. It causes deterioration of water quality and fish mortality.
II. Some bloom-farming algae are extremely toxic to human beings and animals.

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. ¥ Neither I nor II

Question Number : 17 Question Id : 630680365012 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

92380 D815 0B 357 OO’ DB EHTITAOTIDES0E?
Options :

1. % oSroedaire3s

2. % 0S8

3. ¢ oIS

4. % O5r0e3 IS

Question Number : 17 Question Id : 630680365012 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following types of medicines is used for treating indigestion?
Options :

1. ¥ Antibiotic

2. % Analgesic

3. % Antacid

4. ® Antiseptic

Question Number : 18 Question Id : 630680365013 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

808 ¢3S HB S BB HTIPHO E?

L 235720 20835 SO(ENR 03§ AT, EDCs0.
1. 258) 23S AHS) & Sogren (BS TAHBo

1L 'S 59 (DIS0.

Options :

1. % 1308050 1T 3°(ed o

2. % 118050 11T 33°(5 33

3. % 1308050 T 337533

4.9 1,11 0O 111

Question Number : 18 Question Id : 630680365013 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is correct applications of laser?
I. Finding the distance between earth and moon.

II. Drilling holes in baby bottle nipples.

1. Transmitting phone calls.

Options :

1. # Only [ and II
2. % Only Il and III
3. # Only I and IIT
4.9 [, 11 and 11T

Question Number : 19 Question Id : 630680365014 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
806 &35 ST S 28N TRIBL SSK0 DE?
Options :
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1. % redrd

2. % e

3% DIy

4. 20mrED0D

Question Number : 19 Question Id : 630680365014 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following food items is a source of carbohydrates?
Options :

1. # Spinach

2. % Tomato

3. ¥ Beans

4. % Potato

Question Number : 20 Question Id : 630680365015 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

808 E3S" DLNS D S°H0 5O ST aC0eN/B12e5 E?
Options :

1. % 35y

2. % oD (R $0ed)

3. % 83 (9055°FS &Ko)

4.4 )65

Question Number : 20 Question Id : 630680365015 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following diseases/disorders is caused due to the deficiency of Vitamin C?
Options :

1. ¥ Anaemia

2. % Goiter

3. ¥ Rickets

4. % Scurvy

Question Number : 21 Question Id : 630680365016 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Eridad TP BeCD0t.

s To gLt 2208080
| | oR®as 1 | ar80d
Il | &escixoren 2 ran[;)cm“bﬁ
N | ooren 3 | oEdon

Options :

1. % [-3, [1-2, 11I-1
2. % 1.2, 11-1, 111-3
3. % I-1, 1I-3, 11I-2
4, % 1-2,11-3, ITI-1

Question Number : 21 Question Id : 630680365016 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Match the following.

Class Animals

I | Reptilia 1 | Macropus

]

II | Amphibia Ichthyophis

III | Mammalia

W]

Hemidactylus

Options :

1.9 1-3, 11-2, 111-1
2. % 1.2, 11-1, 113
3. % 1.1, 11-3, 1112
4. % 1-2,11-3, 11I-1

Question Number : 22 Question Id : 630680365017 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following pairs of ‘Plant — Phylum’ is correctly matched?
1. Wolffia — Gymnosperms
I1. Eucalyptus— Angiosperms

Options :

1. % Only I

2.% Only I

3. % BothIandII
4. % Neither I nor II

Question Number : 22 Question Id : 630680365017 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

808 5¢365" ) '$598.0 - SO’ &S DO HOFO0E?
L SO0 — DSyed D3 REyen

IL CRPEORD — e359¢5 DBRNEY 0

Options :

IR NV SN

2. ¥ 11 S°(¢H a0

3. % 1000 1T Bocsy

4. % 1520 S 11 5°Q 5°¢0

Question Number : 23 Question Id : 630680365018 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

SN0 O DAFTTR), DB SeTr0ST8 §0B ¢3S DB (E0 DE?

Options :

L % 33708 BSNE, orers08S0, FQ0R, ABOH0 S3NESCH0, DSFTTS @)EHE
2. % DTS BSHE, Q0B ABOHO BNE S0, DIFTTS @HENE, rersoddo
3. % J37TE BSHE, Srers0880, ABONO 3NESH0, FQOR, DSFPTrd @HEHE
4. % D3PS 8SHE, AEON0 SNEHB0, FQOR, 0Ters0E50, DIFTTS @HEHE

Question Number : 23 Question Id : 630680365018 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is the correct sequence to managing information of damage assessment?
Options :

1. # Information input, Evaluation, Sorting, Decision making, Information output

2. % Information Input, Sorting, Decision making, Information output, Evaluation

3. # Information Input, Evaluation, Decision making, Sorting, Information output

4. % Information Input, Decision making, Sorting, Evaluation, Information output
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Question Number : 24 Question Id : 630680365019 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

oGS 238 BB S S50 (ALTM) 180D 80 (HEESES’ DE/D OBSE/N?

L. 28 2557 &DBH0 S0BAN TP ) DY 3D ARES (&), ErFOA0NERE B, Ji30H0
DD IS SG0.

11 |DNH0 I |DFSOMT 575000 Sea® OB § @B §R0 edIAONDCS0.

Options :

R NV SN

AR NG

3. ¥ 10805 11 Bocss

4. % 150 Sor 1 570 570

Question Number : 24 Question Id : 630680365019 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is/are correct about Airborne Loser Terrain Mapping (ALTM)?
L. It is a cheap, fast accurate way of creating 3D digital picture of the earth surface and objects on it.
I1. Currently it is mainly used for mapping or survey application.

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. ¥ Neither I nor II

Question Number : 25 Question Id : 630680365020 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

07565 (D30)0RS DB IOEL "8 X5RY) ErdITHNERIS0R.
Options :

1. ¥ 25°8000

2. % £0%800eN SrOFS0

3. % QORrAD

4. % e9eq) [DIT0

Question Number : 25 Question Id : 630680365020 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

‘Shake Maps’ is useful for response agencies after
Options :

1. ¥ an earthquake

2. % alandslide

3. # a tsunami

4. # anuclear accident

Question Number : 26 Question Id : 630680365021 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

DE'S BTSN B28S 03 YOPT N DO O™ DOBEI0 TPsT° &) @95)008.
Options :

1. % SEYFETE)S

2. ¥ 0)Q eI

3. % 275

4. % 9J7Q0

Question Number : 26 Question Id : 630680365021 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
is produced from incomplete burning of fuels such as petrol and diesel.
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Options :
1. ¥ Chlorofluorocarbon
2. % Carbon monoxide
3. ¥# Butane

4. % Ammonia

Question Number : 27 Question Id : 630680365022 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

KOTP SO°5TdSEd (DETPDE 23S 5T350S’ S 8080 E0E.
Options :

1. ¥ 1978

2. % 1981

3.9 1985

4. % 1989

Question Number : 27 Question Id : 630680365022 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The Ganga Action Plan was launched in India in
Options :

1. % 1978

2. % 1981

3. 1985

4. % 1989

Question Number : 28 Question Id : 630680365023 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

808 ¢3¢S° @)D AEFIOS TBEY DOETEFEN DEI?

L QB FerdSe0S 58S GA5rS IR P08 DOTNS0E.
1. 2 B[R, EORN0H.

1L 2 3°(EerBs H5°R8 25050 EOBROA.

Options :

1. % T OO 1T S°(¢hadd

2. % 1 08050 1T 357533

3. % 108050 I S5 ebadd

4. % 1T OO I

Question Number : 28 Question Id : 630680365023 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following are the consequences of deforestation?
I. Tt enhanced carbon dioxide concentration in the atmosphere.
II. It causes loss of biodiversity.
II1. It disturbs hydrologic cycle.

Options :

1. ¥ Only I and I
2. % Only II and 111
3. % Only I and III
4.9 [, 11 and III

Question Number : 29 Question Id : 630680365024 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

&30 $TAE H020H0D 0B ¢3S’ HBIE IE?

1. €350 580 TZEY pH e 5.6 EOTY 809 e0EN0&.

11 €35 580 OFE FEIBI0S ' He)B BN JEBS e IEO D TR DA E5° S35 S*EsEeraTed
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TN DOSeH Y&,
1L R Sd69e0 0O 2300:)6S’ 75087 350 EOAN0A.
Options :

1. % T B0 1T S°(hod

2. % 11 08050 I (b
3. % 108050 I S| ebadd
4. ¥ 11 OO I

Question Number : 29 Question Id : 630680365024 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is correct regarding acid rain?

I. The pH value of acid rain would be below 5.6.

II. Acid rain is a byproduct of a variety of human activities that emit the oxides of sulphur and nitrogen in the atmosphere.
III. It causes respiratory ailments in human beings and animals.

Options :

1. % Only I and II
2. % Only II and 111
3. % Only I and IIT
4. % 1,11 and 111

Question Number : 30 Question Id : 630680365025 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

808 3OS’ I DO 235DGTIDR0E?

L SPROES O - S, P30T SHOAM D)5 BASFTIE © FDo.
IL ¢S ENES 50 - 38 13563 TB0E), 0O rehes.

Options :

R NV SN

2. % 11 S0°(ehad

3. ¥ 10805 11 Bocss

4. % 150 Sor 11 57 570

Question Number : 30 Question Id : 630680365025 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following pairs is/are correctly matched?
I. Classical smog — Mixture of smoke, fog and sulphur dioxide.
II. Photochemical smog — High concentration of oxidizing agent.

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. ¥ Neither I nor II

Question Number : 31 Question Id : 630680365026 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is correct regarding industrial wastes?
I. Food processing units produce gypsum.
II. Thermal power plants produce biodegradable wastes.

Options :

1. % Only I

2. % Only II

3. % BothITand II
4. ¥ Neither I nor II

Question Number : 31 Question Id : 630680365026 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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FBFNE ST OB H0D0AOD 0B a3e3S HTIE DE?
L D& [rIV0N CTIEW 235 )0 e )& T OW.

1L S HXD 0L BIFHES ST €red )& T 0.
Options :

1. % TS0

2. % 1 Sv(ehad

3. % 1000 11 DOy

4. ¢ 150 B 11 5°Q 5°¢

Question Number : 32 Question Id : 630680365027 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

0230 &£90 erESHTFOS' 80 O SO &0E?
Options :

1. % 5o

2. % B8

3. Y RIS

4. % 3836

Question Number : 32 Question Id : 630680365027 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Majuli island is located in which of the following rivers of India?
Options :

1. # Ganga

2. % Godavari

3. ¥ Brahmaputra

4. ® Narmada

Question Number : 33 Question Id : 630680365028 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

P ESHTE EISGE0 0B &) BERV TEISETE HOVOEODS ©F g7 EOR 0 &?
I. G520 T3S0

IL He0BERN0BO FESBe0

Options :

IR NV ST

2. % 1 S5°(eH

3. ¥ 10005 1T BOLy

4. % 150 S 11 57 5°¢0

Question Number : 33 Question Id : 630680365028 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

India’s climate has characteristics of which of the following types of climate?
I. Tropical climate
II. Subtropical climate

Options :

1. % Only I

2. % Only II

3. % Both I and IT
4. ® Neither I nor II

Question Number : 34 Question Id : 630680365029 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

531808 '@’ EDDOT ST’ 235 DD DO 23¢5G )T ON?
L 825598 - S0 Hebed SO e9¢hen.

IL D08 — DG §eb (r0d s
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Options :
1. ¥ T S5
AR NG
3. % 1000w 11 Bocsy
4. % 150 S 11 5°Q 570

Question Number : 34 Question Id : 630680365029 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following pairs of ‘trees found in forest’ is/are correctly matched?
I. Rosewood — Tropical evergreen forests.
II. Sundari — Montane forests

Options :

1. ¥ Only I

2. % Only II

3. % BothIand II
4. ® Neither I nor II

Question Number : 35 Question Id : 630680365030 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

1808 TPSFOAITS DT O a3¢3 DN 23 T (5006 @38 )0B.
ISV VO

1. 0 S230m

1L S°0°) 2°0°§

Options :

1. % II-II-I

2. % MI-1I-I

3. ® [-II-I1

4. ¥ TII-1-11

Question Number : 35 Question Id : 630680365030 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Arrange the following peaks of the Himalayas in the increasing order of their heights.
I. Kamet

II. Kanchenjunga

III. Namcha Barwa

Options :

1. % II-II-I
2. % III-11-1
3. % I-III-11
4. ¥ III-I-11

Question Number : 36 Question Id : 630680365031 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

806 & SN a¢3 PCHXYD € TP (50065 DB @508 Jo0B Eaoe) ON?
Options :

1. % IS < fore < Feeedd

2. % 538 < HOTP < 05

3. ¢ 530 < IO < Ear

4. % 38 <S8 < Eyar

Question Number : 36 Question Id : 630680365031 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which the following rivers are correctly arranged in the increasing order of their lengths?
Options :

1. ¥ Mahanadi < Ganga < Godavari
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2. % Kaveri < Ganga < Mahanadi
3.+ Kaveri < Mahanadi < Krishna

4. % Kaveri < Godavari < Krishna

Question Number : 37 Question Id : 630680365032 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

2011 3% BELO (DFSE0 808 & 2S00 Taren a¢3 o DIV 20¢3 e85 1E00S° HOT 95303 )22 F°00?
Options :

1. % SO0 < OB < GBS (DT3B

2. ¥ PO < GBS |IDTB < OB

3. % OPRYS < O < GBS |DTT

4. % &S |DTT < SPOFD° < T°BI°0

Question Number : 37 Question Id : 630680365032 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which the following Indian states are correctly arranged in the increasing order of their sex ratio as per Census 2011?
Options :

1. ¥ Haryana < Rajasthan < Uttar Pradesh

2. % Haryana < Uttar Pradesh < Rajasthan

3. # Rajasthan < Haryana < Uttar Pradesh

4. % Uttar Pradesh < Haryana < Rajasthan

Question Number : 38 Question Id : 630680365033 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

278 201965 277565 (2906550 [HTDBONS Seormr 828 VAR DR 2SS 10550, 20176° a8 2395 Bew
BB, 1500 80 & 2S00 T(AFen OO €618 Y2 0n?

Options :

1. % SADEE < &STPOE < DO

2. ¥ 5025 < &SHTPOE < IBVHE

3. % 5023 < SVHE < SSTPOS

4 % &STrH0& < D02rdS < IBVEE

Question Number : 38 Question Id : 630680365033 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which the following Indian states are correctly arranged in the increasing order of their birth rate in 2017, as per Sample Registration
System Bulletin published by Government of India in July 2019?

Options :

1. # Chhattisgarh < Uttarakhand < Punjab
2. % Punjab < Uttarakhand < Chhattisgarh
3. # Punjab < Chhattisgarh < Uttarakhand
4. % Uttarakhand < Punjab < Chhattisgarh

Question Number : 39 Question Id : 630680365034 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

2011 B> S50 (DSE0 arESTIOS” 98 50265 O AXNBI EOR &) TR0 DE?
Options :

1. ¥ SPovs°

2. % DS

3. % 0P’

4. % SrQob

Question Number : 39 Question Id : 630680365034 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0
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Correct Marks : 1 Wrong Marks : 0

Which state has the lowest sex ratio in India, as per Census 2011?
Options :

1. ¥ Haryana

2. % Bihar

3. ¥ Rajasthan

4. % Jharkhand

Question Number : 40 Question Id : 630680365035 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Arrange the following Indian states in the increasing order of their female literacy rate as per Census 2011:
I. Haryana

II. Jharkhand

1. Manipur

Options :

1. % II-IT1-1
2. ¥ [I-1-111
3. % I-III-11
4, ® 1-1I-111

Question Number : 40 Question Id : 630680365035 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

B2 (56905 2011 (OSSO0, 3°¢3 s0ere™ 9% 07565 BEW BN, 1E006 80& arBBAH T aFOD sE)0G:
L. PO°§°

1. S @o&

II. 0e3y°0

Options :

1. % II-I1I-1

2. ¥ [I-1-111

3. % [-II-11

4, % 1-II-11

Question Number : 41 Question Id : 630680365036 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
QOBONS MWSSS ) RANB2NS 2019 (HSG0, 2018-19 D035 YT 2B 27D IV’ 78 aFer DO (oS’
808 2GS0 T aFO NS )0A.
I SSDNE

. .43

1. 2*Qo&

Options :

1. % [I-I-I11

2. % I-II-III

3. LI

4. % MI-I-II

Question Number : 41 Question Id : 630680365036 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

As per Indian Minerals Yearbook 2019, arrange the following Indian states in the increasing order of their share in the national production
of bauxite for the year 2018-19.

L. Chhattisgarh

II. Odisha

II1. Jharkhand

Options :
1. % II-I-II
2. % I-II-11T
3.9 [-II-11
4. % MI-I-1I
17/67



14/09/2023, 11:26

Question Number : 42 Question Id : 630680365037 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

POE 3388 A AB0B2&08.
Options :

1. % 538

2. ¥ D3O

3% 3828

4. % 58

Question Number : 42 Question Id : 630680365037 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Hirakud Dam is built across the river.
Options :

1. ® Kaveri

2. % Mahanadi

3. # Narmada

4. ® Sutlej

Question Number : 43 Question Id : 630680365038 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

T RNBE DIFON0 DA BN DO RS TS 23S ed T°25505065°Q & e3ES $H0(3e00%OE
Q020HODIE?

Options :

1. % 388 80

2. ¥ 88 74

3. % &858 82

4. % 308595

Question Number : 43 Question Id : 630680365038 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which article of Indian constitution is related with Council of Ministers to aid and advise President?
Options :

1. # Article 80

2. % Article 74

3. % Article 82

4. % Article 95

Question Number : 44 Question Id : 630680365039 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

255 TPes00 HOCB)0S” 80 & 3¢ '&QES - (FRBS' E0 DO 23¢5DETIDR0E?
I &8ES 7 - PETSE SO0 DS T0BH0OE FSDe S S8

11 8855 17 - D& B

Options :

(I NV

2. % 1 S°(eH

3. % 1 00O 1T BOLy

4. % 150 S 11 52 5°¢0

Question Number : 44 Question Id : 630680365039 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following pairs of ‘Article — Provision’ is correctly matched, in the context of the Indian Constitution?
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I. Article 7 — Rights of citizenship of certain migrants to Pakistan
II. Article 17 — Abolition of titles
Options :
1. % Only I
2. % Only II
3. % Both I and II
4. ¥ Neither I nor II

Question Number : 45 Question Id : 630680365040 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

806 085S 238 Toers0606S 3¢3 ), € TNCHES O DB SBF DB 1E00S’ 9508 0B.
1. 078 ¢h s 23385

11 80| &0 ©0& e8&eD B35S &35 Y0&AST

1L 278D FA8 e@er8) 338S

Options :

1. ¥ II-I-IT

2. ¢ 111

3. % JI-I11-1

4. % I-I-11I

Question Number : 45 Question Id : 630680365040 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Arrange the following Articles in the correct sequence of their place from first to last in the Indian Constitution.
I. Advocate-General for the State

II. Comptroller and Auditor-General of India

III. Attorney-General for India

Options :

1. % MI-I-11
2. % III-11-1
3. % II-11-1
4. ® II-I-111

Question Number : 46 Question Id : 630680365041 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

806 ¢3S’ 2355 FPROENE'Q 23T DD?
L. O°(QDed

I1. O°2350025

111 S5 523

Options :

1. % 108050 II S¢S

2. % 1 08050 M 50| eb a0

3. % 1308050 I 357533

4.9 1,11 D8 111

Question Number : 46 Question Id : 630680365041 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following are parts of the Indian Parliament?
I. President

II. Council of States

II1. House of the people

Options :

1. # Only [and II
2. % Only II and III
3. % Only I and III
4. % 1, 11 and 111
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Question Number : 47 Question Id : 630680365042 Is Question Mandatory : No Calculator : None Response Time : N.A Think

Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

808 e3¢5 Q DOBTHOS’ T RN ESTDE D B LHOS?
L 88 S80S @@ 507 BE. AOOBDAES @) Hodom)S'.

I1. 28 08028, 000 ) K)ocﬁcz)@s.

Options :
IR N W
2. % 1 S5

3.9 1080 11 DOy
4. % [ S 11 5 5°¢0

Question Number : 47 Question Id : 630680365042 Is Question Mandatory : No Calculator : None Response Time : N.A Think

Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

In which of the following cases the President can grant Pardons?
L. In all cases where the punishment and sentence is by a court martial.

II. In all cases where sentence is a sentence of death.

Options :

1. # Only I

2. % Only II

3. % Both I and I
4. # Neither [ nor II

Question Number : 48 Question Id : 630680365043 Is Question Mandatory : No Calculator : None Response Time : N.A Think

Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

e aeedd a;@bcaod"._

oo SIS RSEY
| | eSoSDD% 1 01
Il | eacoeses DoT 2 11
I | @Jyo 3 o7
Options :

1. % I-1,11-2, 11I-3
2. 12, 11-1, 111-3
3. % 1.3, 11-2, I1I-1
4, % 12,113, 11I-1

Question Number : 48 Question Id : 630680365043 Is Question Mandatory : No Calculator : None Response Time : N.A Think

Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Match the following.

State Rajva Sabha
Seat
I Andhra Pradesh 1 |0l
IIT | Assam 3 |07
Options :

1. % 1.1, 11-2, 1113
2. 1.2, 11-1, 11-3
3. % 1.3, 11-2, 1MI-1
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4. % 1-2,11-3, 111-1

Question Number : 49 Question Id : 630680365044 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT a part of state executive?
Options :

1. ¥ Governor

2. % Council of Ministers

3. ® Chief Minister

4. % Attorney General of India

Question Number : 49 Question Id : 630680365044 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

806 ¢3S 7R 5855806 2350 S E?
Options :

1. % 858)0

2. % 00 0%

3. % Qosadoles

4. 2788 @e3r8) BI3S

Question Number : 50 Question Id : 630680365045 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

28e% T3 5050 OTAON® AZNEY AT 5578 0OSTR) 0HEEor  EOA eoerd.
Options :

1. ¥ O°(QDed

2. % DS oled

3. % 200(ed Ho%d

4. % ZDTE olsdoen

Question Number : 50 Question Id : 630680365045 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The Constitution of India vests the executive power of the Union formally in the
Options :

1. ¥ President

2. % Prime Minister

3. # Council of Ministers

4. % Cabinet Ministers

Question Number : 51 Question Id : 630680365046 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

1063 O°ar8 @8 B8IBS T AON0TI2BET .
Options :

1. % oola) S0 503

2. ¥ ool 958D

3. % 2385 |0 o°5A00

4. % 2378 eer8) B3I8S

Question Number : 51 Question Id : 630680365046 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The Advocate General for each state is appointed by the
Options :

1. # Chief Minister of the state
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2. % Governor of the state
3. ® Chief Justice of India
4. % Attorney General of India

Question Number : 52 Question Id : 630680365047 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

FQE 192506 § DOV T°250H 0D & EES DFEd) TR0E?
Options :

1. ¥ 2.3. S0RS 8¢l

2. % $E0570 Ees

3. % oo SRS E0ed

4. % 358 8063

Question Number : 52 Question Id : 630680365047 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which committee recommended constitutional recognition for the local government bodies?
Options :

1. ¥ P.K. Thungon Committee

2. #% Narshimham Committee

3. # Radha Krishnan Committee

4. ¥ Verma Committee

Question Number : 53 Question Id : 630680365048 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

072550050 SrFOB0NSN) I, 8od ¢3S’ BIE TS (HDeH&e s, Teron0Td?
L. 07 (D250eb SO

1. 30(&0 (D305 50

Options :

1. ¥ T S5

AR TN

3. % 1000w 11 Bocdy

4. % 1520 B 11 5°Q 570

Question Number : 53 Question Id : 630680365048 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

When the constitution was prepared, the subject of local government was assigned to which of the following?
I. State Government
II. Centre Government

Options :

1. ¥ Only I

2. % Only II

3. % BothIand II
4. % Neither I nor 11

Question Number : 54 Question Id : 630680365049 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

808 ¢3S" FE (52068 § DT*2690 TINEY DB FaFS(E0 DE?
L ([P HOTTo%Hes

IL OFS HOTFANE BT H0E HOTTONE

1L 2 HOTTOHE

Options :

1. % [-II-11
2. % II-11-1
3. ¥ [-II-1I1
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4, % II-I-111

Question Number : 54 Question Id : 630680365049 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is correct hierarchy of local government structure?
I. Gram Panchayat

II. Taluka Panchayat or Mandal Panchayat

II1. Zilla Panchayat

Options :

1. % [-II1-11
2. % MI-I-1I
3.9 [-11-111
4. % TI-1-11I

Question Number : 55 Question Id : 630680365050 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

808 DO Vi3 0 DIB 5B a37¢3 eI TEY, DB °OEITNTTR), ¢ 908 yod?
L. R0Q0HS ROB(NOHS 0& E0BAHS 520D

IL DSEBIS 6D & Y0AOHS 7020 & S5 ©0& QOBVD

1L P0NTS FAOY BIHDES es8;

Options :

1. % LI0I-11

2. ¢ LI

3. ® -1

4. % I-I11-]

Question Number : 55 Question Id : 630680365050 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Arrange the following organisations in the correct chronological order of their establishment from first to last?
I. Indian Industrial and Commercial Congress

II. Federation of the Indian Chamber of Commerce and Industries

III. Hindustan Socialist Republican Army

Options :

1. % I-II1-11
2. % [-II-111
3. % III-I-11
4. % TI-110-1

Question Number : 56 Question Id : 630680365051 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

ORFTDANS BBLOAD HE) TBI)S H0BB)0S” 80 RIS I HBIE?

L 38 2FSEBON FBE O 52T SEHIHN0E.

1. B 2GS 0NN 93 FOh FBDT ) BOA SIS HIFAHHESIOE.

1L A& e32350 DB 3285 DG DHOG ST IDTBT23 T QO TE 23BN OZ Ve EOIN0A.
Options :

1. % 10805 11

2. ¥ 10805 11T

3. % 1085 I

4. % T 110805 111

Question Number : 56 Question Id : 630680365051 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following arguments is correct in the context of the Wood’s Despatch on European learning?

L. It would improve the moral character of Indians.

II. It would help Indians rediscover their own heritage.

III. Tt would enable Indians to recognise the advantages that flow from the expansion of trade and commerce.
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Options :
1. # Tand II
2. % [ and III
3. % Il and III
4, % 1 Il and III

Question Number : 57 Question Id : 630680365052 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

808 3 07235 HO(EeED DT0HO T°T° DO ITTOTFONS & T°25eN FOESTOT GO (FNCE3 0B DB SE8v)
QBT @08 )22TF0N?

Options :

1. ¥ Q0" - G000 - )

2. % PR - & AADNY*O - KA

3. % Jeror - AT - G0N D

4. % A - Heror - Sord)

Question Number : 57 Question Id : 630680365052 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following kingdoms are correctly arranged in the chronological order (from first to last) of their annexation by means of the
Doctrine of Lapse?

Options :

1. % Satara — Udaipur — Jhansi
2. # Nagpur — Udaipur — Jhansi
3. ¥ Satara — Jhansi — Udaipur
4. ¥ Nagpur — Satara — Jhansi

Question Number : 58 Question Id : 630680365053 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In the context of the Indian National Movement, arrange the following events in the correct chronological order from first to last.
I. Simon Commission

II. Kheda Satyagraha

1. Gandhi-Irwin Pact

Options :

1. ® I-II-I11
2. % I-II-11
3.9 II-I-111
4. ® II-111-1

Question Number : 58 Question Id : 630680365053 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
2356 2D 55500 HOBBIOET, &2 (B0 HOMNEISOR BCIES 0BG DB BB DB TO(ESTDI S0
€908 )06%.

L 20 $AQ

1. BE® S50

ML PO&-38 58 2000850
Options :

1. % L1110

2. ® LI

3. ¢ [L-I-I1

4. % JI11-I

Question Number : 59 Question Id : 630680365054 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
808 FOS” DSK Ter 8 D), BFFOSOTTE?
Options :
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1. ¢ 20O 3ok
2. % ©BT0%d 8&
RAE N NSNS
4. % 3700 H&

Question Number : 59 Question Id : 630680365054 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Who of the following devised the system of mahalwari settlement?
Options :

1. % Holt Mackenzie

2. % Alexander Read

3. ®# Thomas Munro

4. % Charles Wood

Question Number : 60 Question Id : 630680365055 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
(295372 035°23 WPBOCR DoI?
Options :

1. % &3 555018 Desariid

2. ¥ 0P TR T°ON

3. % 280 SATS0E OB 563
4. % 25 DSRS0

Question Number : 60 Question Id : 630680365055 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Who was the founder of the Brahmo Samaj?
Options :

1. ¥ Ishwarchandra Vidyasagar

2. % Raja Rammohun Roy

3. # Swami Dayanand Saraswati

4. ¥ Swami Vivekananda

Question Number : 61 Question Id : 630680365056 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

BOTSES D87 €350 DN, 80 TBES 23°8¢h 53¢ D HIETR), DI D(EBOTTED?
Options :

1. % 20080 WO WV G sAD

2. % 3o oD

3. ¥ @20|SaE oD

4 % TS5 S0 DS

Question Number : 61 Question Id : 630680365056 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

During the Swadeshi movement in Bengal, who among the following painted the portrait of Bharat Mata?
Options :

1. # Bankim Chandra Chattopadhyay

2. % Rabindranath Tagore

3. ¥ Abanindranath Tagore

4. # Keshab Chandra Sen

Question Number : 62 Question Id : 630680365057 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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5825 S5l FoS D BBrressd Ty ODTEHAE H0D0E0D 0B ¢3S HTIE DE?
Options :

1. % @005 0O eNFE0 TOAS & 558 evcne

2. % 18 00O 40 0055 )T NS AN

3. % 205N STOL (85 STZFIBNE 60 DFZ HBO0HDB0H.

4. ¥ 7E |TPa0ED OS05980 T 50 81090 & e s0

Question Number : 62 Question Id : 630680365057 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is correct about the Beneficiary of Garib Kalyan Rozgar Yojana?
Options :

1. # Any person belonging to Asia and Africa

2. # Between the ages of 18 and 40 years

3. #¥ The upper age limit is relaxed to 60 years for vulnerable groups.

4. % 1t aims to skill rural youth who are poor

Question Number : 63 Question Id : 630680365058 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

805N AS’ STOE ST AT H5TSE0 HE0D 0B ¢3¢ HBIE AE?
L. 2O €565 5850 TNE), G IEHD 00TV,
L 2 (DB 283 7°69 55 DEDDEN0.

Options :

1. % TS50

2. % 1 S°(eHd

3. ¥ 10005 1T BOLy

4. % 1520 S 11 5°Q 5°¢0

Question Number : 63 Question Id : 630680365058 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is correct about contribution of infrastructure in economic development?
L. It increases the productivity of the factor of production.
II. It improves the quality of life of peoples.

Options :

1. % OnlyI

2. % Only II

3. ¥ Both I and II
4. % Neither I nor II

Question Number : 64 Question Id : 630680365059 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

QDS 2023 °¢38 80A ¢3S 035BeH) PSE DE?
Options :

1. ¥ 208008 80N 5T IBAS ONTE

2. % r00TS D838 OB&E

3. % [IRCTC

4. % QoNOIY e05r6¢d eD 0dAST

Question Number : 64 Question Id : 630680365059 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is a Maharatna PSE, as of April 2023?
Options :

1. ¥ Indian Oil Corporation Limited

2. % Hindustan Aeronautics Limited

26/67



14/09/2023, 11:26
3. % IRCTC

4. ® Airport Authority of India

Question Number : 65 Question Id : 630680365060 Is Question Mandatory : No Calculator : None Response Time : N.A Think

Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

| 3e388250 H0220EH0D 80& (DEEISOES’ A/ DB IE/IBI?
L. 28 PSU® P07, BN 0E.

IL 98 DDAV (DI 2O FN (FT°YoIF), @0A0IHD.
Options :

1. % TS0
2. % 1 S07(eh a0

3.9 10805 11 BO®
4. % 52 S 11 5 °C0

Question Number : 65 Question Id : 630680365060 Is Question Mandatory : No Calculator : None Response Time : N.A Think

Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which of the following statements is/are correct regarding privatisation?

L. It improves the efficiency of PSUs.
I1. It could provide strong impetus to the inflow of FDI.

Options :

1. % Only I

2. % Only I

3. % Both I and I
4. ¥ Neither I nor II

Question Number : 66 Question Id : 630680365061 Is Question Mandatory : No Calculator : None Response Time : N.A Think

Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Eied aedd a@bd{hod.

Eelalel ITPED
| | dodcson Doex8E PN BP0 BAS DG VDG DE0I00
| Hdodsoes RBIPE FOTFES, WOR)HS QOO FodAS ATOYE
Il | podsces 2ZOBLO Aol PHB CorrDS agro 268

Options :

1.9 1-1, [1-2, I11-3
2. % [-2,11-1, I11-3
3. % 3,112, 111-1
4. % 1-1,11-3, 111-2

Question Number : 66 Question Id : 630680365061 Is Question Mandatory : No Calculator : None Response Time : N.A Think

Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Match the following.

Term Meanings
i oo Dismantle the excessive regulatory framework that curtail
I Liberalisation 1 .
the freedom of enterprise
II Globalisation 2 | Cross-border social, culture and technological exchange
11 Privatisation 3 | Transter of business from the state to the privet sector
Options :

1. I-1, 11-2, I11-3
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2. % 1.2,
3. % 1.3,
4. % 1.1,

Question Number : 67 Question Id : 630680365062 Is Question Mandatory : No Calculator : None Response Time : N.A Think

26

I1-1, 1I1-3
11-2, 1I-1
11-3, 1I1-2

Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The HY'V seeds require which of the following for Agriculture?
L. Fertiliser
II. Pesticide
III. Regular Supply of Water

Options :

1. % Tand I
2. % JTand I
3. % Jand I

4.4 110

Question Number : 67 Question Id : 630680365062 Is Question Mandatory : No Calculator : None Response Time : N.A Think

and III

Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

S5 AH0 FH0 HYV D280 80 a7¢36S° 6 €955030?
| APN IO VAV TN
I1. B0

1L 800 )R e SSHT°

Options :

1. % 10800 11
2. % 11 W 111
3. % 10805 I

4.4 1,11

Question Number : 68 Question Id : 630680365063 Is Question Mandatory : No Calculator : None Response Time : N.A Think

DO 111

Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

ED TR REVDGD06.

D0 PEFPSLD P00
|| 2o (197L-1979)
Il |es6d 2 | (1978-83) swbo3w (1980 — 85)
mo | dead 3 | (1985 -1990)
Options :
1. % 1-1, 112, 111-3
2. % 12, 1I-1, I1I-3
3. % 1-3,1I-1, II1-2
4, % 1-1, 11-3, 11I-2

Question Number : 68 Question Id : 630680365063 Is Question Mandatory : No Calculator : None Response Time : N.A Think

Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Match the following.

Five Year Plans Period
I Fifth 1 (1974-1979)
II Sixth 2 | (1978-83) and (1980 — 85)
I Seventh 3 | (1985—1990)
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Options :
1. % 1-1, 11-2, 111-3
2. % 1.2 1I-1, III-3
3. % [-3,1I-1, 11I-2
4. % 1.1, 11-3, T1I-2

Question Number : 69 Question Id : 630680365064 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

0% F(Q0S DT DE 90T DAEI?

L 1067 D% 2,8 B350 TBNEY SSBO Der & ITBrAoTES” DSEN0E.
IL (DD 9T 1525065 § D) @OTIR® 8D 0TEES 5°¢%.

Options :

1. ¥ 1 S0

2. % 1 S°(eH

3. % 1080 IT e Bodsr

4. % 150 S 11570 DA 5°¢%0

Question Number : 69 Question Id : 630680365064 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is a plan in the context of economics?
I. A plan spells out how the resources of a nation should be put to use.
II. A plan is nothing but an estimation of government expenditure.

Options :

1.+ Only I

2. % Only II

3. % BothTand II
4. % Neither I nor II

Question Number : 70 Question Id : 630680365065 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

5O DAH0 FOBBESH  >sBES SD)0A.
Options :

1. % HYV Qe oS08 de3ardncdied

2. % HYV ST 308050 dEs)en

3. % DBDYHEN B3G5 eSS cded

4. % HYV D70, 0690 08050 DeSrdcsed

Question Number : 70 Question Id : 630680365065 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The Green Revolution Technology came in a package of
Options :

1. ¥ HYV seeds and irrigation

2. % HYV seeds and fertilizers

3. ¥ Fertilizers and irrigation

4. % HYV seeds, fertilizers and irrigation

Question Number : 71 Question Id : 630680365066 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

D S5522E 2083°0%, 5950 Do0A0D 0B ¢3S HBIE DE?

L A8 358000 DYYeh D330 570 195N 0BG BANPTD ST SrDROL.

11 2O S3530e0 B DerIten eesOE 23072780 55780 §0)05%00a ATHOT A (363 857 Soa
e N o)

Options :

1. % TS0
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AR NG
3.9 108 11 &0 BOGF
4. % [ B 1157 DA 5°¢0

Question Number : 71 Question Id : 630680365066 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statement is correct regarding social exclusion?

L. It refers to ways in which individuals may become cut off from full involvement in the wider society.

I1. It focuses attention on a broad range of factors that prevent individuals or groups from having opportunities open to the majority of the
population

Options :

1. % Only I

2. % Only I

3. % Both I and II

4. % Neither I nor 11

Question Number : 72 Question Id : 630680365067 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

808 ¢3S B erESTIOS ) Seh YT £ s D230 (K50’ GOTBE)?
1. 3B TOAS T°OH

I SHAT05® °en

Options :

1. % TS0

AR NG

3. ¥ 1000 11 DOy

4. % 1520 B 11 5°Q 5°¢0

Question Number : 72 Question Id : 630680365067 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is (or used to be) matrilineal society of India?
I. Nairs of Kerala
I1. Khasis of Meghalayas

Options :

1. % Only1

2. % Only II

3. % Both I and I
4. % Neither I nor 11

Question Number : 73 Question Id : 630680365068 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

FOBS R DY, DSK FFTHB0SE Bz )S?
Options :

1. ¥ 05 o

2. % 385 &).e35. @023¢5),6

3. % BES S0l DS

4. % @085 DS

Question Number : 73 Question Id : 630680365068 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Who popularised the term ‘Harijan’?
Options :

1. ¥ Mahatma Gandhi

2. % Dr. B.R. Ambedkar

3. # Keshav Chandra Sen
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4. % Amartya Sen

Question Number : 74 Question Id : 630680365069 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

TP DXTST S8 EER2END (DEE30DS INC ET°E) VA E H00B0D 8§08 ¢35 DE HBSE?

L. 0650, 000, 580 Sz DoKOS D000 SEVOE® TIEIO SN0 DPEOOSET DSTID.

IL & D*HEE 985 B & 050, 00, SE0 B QKO SBEIOT DENS0ES eS8 &0ocse.

1L [ Q8 2,620 3807, [PRC0 SIPOT S3°80) s 92065 § T SOATFOL DEITOT T80y, GOENOS.
Options :

1. % T 08050 1T S5

2. % 11 08050 I 55| eb o0

3. % I 08050 T (b

4.9 1,11 0O 111

Question Number : 74 Question Id : 630680365069 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is correct about INC’s Karachi session where it committed itself to women’s equality?
I. All citizen are equal before the law, irrespective of religion, caste, creed or sex.

II. No disability attaches to any citizen, by reason of his or her religion, caste, creed or sex.

III. Woman shall have the right to vote, to represent and the right to hold public offices.

Options :

1. # Only I and II
2. % Only I and 111
3. % Only [l and I
4. 1,1 and 1II

Question Number : 75 Question Id : 630680365070 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

DHE.0 HBALEONTE 23BHTF0S Q) WIS D000 0B ¢3S HBIE E?

L. 23865 Tmers0B063 Q) 9355 De38Ed € Ds HOROES AHA INEDES SNBSS 8233 SASE HODOHODIID,
IL 23°3¢5 0725050’ e385S 17 @0ETSTR) BT 1ON0E.

I11. 1989 €903 DECE 98I0 ID5IEN HOON BETVD T 2P0 BT €9ISTIEGTIOS IS B8 0T TIEINSTDOS
Q20D DSBODOA HOAW DS B0 TROA.

Options :

1. % T 08050 1T S5

2. % 1 08050 M X5 ¢b a0

3. % 108050 I S5 eb o

4.9 1 11 8% 111

Question Number : 75 Question Id : 630680365070 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statement is correct regarding the steps in India for addressing discrimination?

I. The 93rd Amendment of Indian constitution is related with reservation for the Other Backward Classes in institutions of higher
education,

II. Article 17 of Indian constitution abolishes untouchability.

II1. The 1989 Prevention of Atrocities Act revised and strengthened the legal provisions punishing acts of violence or humiliation against
Dalits and adivasis.

Options :

1. ¥ Only I and II
2. % Only II and 111
3. % Only I and III
4.9 1,11 and 111

Question Number : 76 Question Id : 630680365071 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
In which of the following two districts of Telangana the 916 Sq. Km area is covered by the Quaternary Deposits?
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Options :
1. ¥ Medak and Rangareddy
2. # Karimnagar and Warnagal
3. # Nalgonda and Mahabubnagar
4. % Adilabad and Karimnagar

Question Number : 76 Question Id : 630680365071 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

BoOTS'D 80& O BO BT 916 5. & &. INFO 558518 JBEF HOASE SHOA?
Options :

1. ¥ 05 OO Sorrde

2. % 880568 H805M SB0HS

3. % 370 HOAW e S0

4. % e3Qererd SHOAW 8808515

Question Number : 77 Question Id : 630680365072 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

B0 O°Q 257153) 23ere> RADND 21§ (2020-2021) (D5°S0, BOTTED TR 27 HOE (2050 DO BE H)e3s°seS
OO DDA G0oO?

Options :
1. % 52%
2. % 73%
3. ¥ 83%
4. % 92%

Question Number : 77 Question Id : 630680365072 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

As per the Telangana State Ground Water Year Book (2020-2021), how much of Telangana State's geographical area is covered
by crystalline rocks?

Options :
1. % 52%
2. % 73%
3.9 83%
4. % 929%

Question Number : 78 Question Id : 630680365073 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

806 ¢3¢° ) IO FTrHB SO DI °¢0?
Options :

1. % [reasred

2. % 50288

3. % 8357

4. ¢ 30T

Question Number : 78 Question Id : 630680365073 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which one of the following rivers is NOT a tributary of river Godavari?
Options :

1. ¥ Pranhita

2. # Manjira

3. # Kinnerasani

4. ¥ Munneru
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Question Number : 79 Question Id : 630680365074 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

B0 T (RO’ 808 &) B O B Torew, thery FOOE Do Goenod?
Options :

1. ¥ S0

2. % gdererd

3. % Qerdrerd

4. % S0

Question Number : 79 Question Id : 630680365074 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which one of the following districts of Telangana state is entirely covered by red soils with loamy sub-soils?
Options :

1. % Nalgonda

2. % Adilabad

3. % Nizamabad

4. % Ranga Reddy

Question Number : 80 Question Id : 630680365075 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

SO0 T2 *OF ST, Q BohINSTED DEVL ST DT ON?
Options :

1. # &35 QEDIT N

2. ¢ [ BeddSTeeN

3. % RO CeRDSTEN

4. % I BebDddmren

Question Number : 80 Question Id : 630680365075 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In the total annual rainfall of the Telangana state, which monsoon contributes the most?
Options :

1. ¥ Northeast monsoon

2. ¥ Southwest monsoon

3. ¥ Winter monsoon

4. % Summer monsoon

Question Number : 81 Question Id : 630680365076 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

23725 HSOM (2011 22> BExE [(DSB0 350.04 ©F ) TIOS SO @) TS0’ GOE?
Options :

1% 158

2. % 1085

3.9 1285

4. % 655

Question Number : 81 Question Id : 630680365076 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Telangana is ranked at which position in the country in terms of population (350.04 Lakh on the basis of the findings of the 2011 Census)?
Options :

1. # 15th

2. % 10th

3.9 12th
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4. % 6th

Question Number : 82 Question Id : 630680365077 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

2011 2372 BEL (D5°B0 B0rTen T ADoK AN D0eh?
Options :

1. % 878

2. % 958

3. % 789

4.+ 9088

Question Number : 82 Question Id : 630680365077 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

On the basis of the findings of the census 2011 what is the sex ratio of Telangana state?
Options :

1. % 878

2. % 958

3. % 789

4.9 9088

Question Number : 83 Question Id : 630680365078 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

SOOMED T N0 2011 BT BEYO (DGO, NGB0 BrereS WETLS foered 2y ™ &08.
Options :

1. ¥ 15.45%

2. % 9.08%

3. % 18.45%

4. % 6.08%

Question Number : 83 Question Id : 630680365078 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

On the basis of the findings of the census 2011, scheduled castes constitute of total population of Telangana.
Options :

1. ¥ 15.45%

2. % 9.08%

3. % 18.45%

4. % 6.08%

Question Number : 84 Question Id : 630680365079 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

BOOMPED T QO 1525065 5 €30S’ 2015-1665° 30.5% M &), BIT°ED 2022 °¢38 %0 Bmow.
Options :

1. % 51%

2. % 41%

3.¥61%

4. % 71%

Question Number : 84 Question Id : 630680365079 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The births in Government hospitals increased from 30.5% in 2015-16 to in 2022 in Telangana state.
Options :

1. % 51%
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2. % 41%
3.9 61%
4. % 71%

Question Number : 85 Question Id : 630680365080 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which one of the following is the nodal agency for development of industrial parks in Telangana?
Options :

1. % TSNPC

2. % TSRTC

3. % TSTPC

4. % TSIIC

Question Number : 85 Question Id : 630680365080 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

BOOTES” BTN TS DNYDE 808 O SBS DB Sc5)cM0E?
Options :

1. # TSNPC

2. % TSRTC

3. % TSTPC

4. ¥ TSIIC

Question Number : 86 Question Id : 630680365081 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

F0 55¢3, DS DS BNSBITE3 BoN025 ) TBONCHO T ST° DN TS 0 BOTTED (20550 80O
& T 808 B FNEI SR (&) TS @OAN0E?

Options :

1. ¥ T-IDEA

2. ® TS-iPASS

3. % T-PRIDE

4. % TSIIC

Question Number : 86 Question Id : 630680365081 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Under which platform, Telangana government offers incentives to entrepreneurs for setting up industries by reimbursing stamp duty,
power cost etc.?

Options :

1. ¥ T-IDEA
2. % TS-iPASS
3. ¥ T-PRIDE
4. % TSIIC

Question Number : 87 Question Id : 630680365082 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

BOOMTED-3235-e305-€959E5e05-2023 [H5°B0, BLOTPEFS” RS0 F72eh VS 0TS0 D0ed?
Options :

1. ¥ 28,069 MW

2. % 18,069 MW

3. % 8,069 MW

4. % 13,069 MW

Question Number : 87 Question Id : 630680365082 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
35/67



14/09/2023, 11:26
As per the Telangana-Socio-Economic-Outlook-2023, what is the total Installed capacity of power in Telangana?
Options :
1. ¥ 28,060 MW
2. ¥ 18,069 MW
3. % 8,069 MW
4. % 13,069 MW

Question Number : 88 Question Id : 630680365083 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

SBO0MEd T RO SN § (DTFO ST oNTET FSBV' 8) 6 GOE?
Options :

RN (D)

2. % 38068

3. ¢ 22N Teers

4. % 0

Question Number : 88 Question Id : 630680365083 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Where is the heritage site 'Chowmahalla Palace' is located in Telangana state?
Options :

1. # Panagal

2. % Warangal

3. % Hyderabad

4. % Khammam

Question Number : 89 Question Id : 630680365084 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

808 YOS 29555 @R DB, T IV HVE BrI00eh eSE?
Options :

1. % 8360 (Hed B

2. ¥ (DEFCOSCD

3. % 208 aSredfd

4. % E0ar00 Dordrd

Question Number : 89 Question Id : 630680365084 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Who among the following poets is the author of very famous book titled as ‘Brihatkatha’?
Options :

1. # Suravaram Pratapa Reddy

2. ¥ Gunadhya

3. ¥ Bandi Yadagiri

4. % Kapilavai Lingamurthy

Question Number : 90 Question Id : 630680365085 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

808 &3S’ BOOMEES' T2NENS’ T TEL TS 1DV TOAS 3 DE?
Options :

1. ¥ 353

2. % 07 O

3. % 21 Fer

4. ¥ @909 3

Question Number : 90 Question Id : 630680365085 Is Question Mandatory : No Calculator : None Response Time : N.A Think
36/67



14/09/2023, 11:26
Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which of the following special stones is famous for stone carving in Ramadugu of Telangana?
Options :
1. # Shiva Shila
2. % Rama Shila
3. % Hima Shila
4. % Amrutha shila

Question Number : 91 Question Id : 630680365086 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

BOOTE) T RO’ (BEFE) BTOON0 D8 GOE?
Options :

1. % 295508

2. ¥ s0errd

3. % 880566

4. ¥ 50T 0

Question Number : 91 Question Id : 630680365086 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Where is the Trikuta Temple is located in Telangana state?
Options :

1. # Bhuvanagiri

2. % Adilabad

3. # Karimnagar

4. ¥ Hanumakonda

Question Number : 92 Question Id : 630680365087 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

SO BH0X0F0D) N0 WS DT D0 B0 D NPT T o SITEITEN T IBE B D
DIB?

Options :

1. % 203028 &5

2. ¥ O &6

3. % &8 8D Do

4. % (0eIPCs

Question Number : 92 Question Id : 630680365087 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Who is the only Telugu poet who wrote comments on all the five Mahakavyas of Sanskrit including Sanjivini Vyakhaya on Kalidasa’s
Raghuvamsam?

Options :

1. ¥ Bammera Pothana
2. % Mallinatha Suri

3. ¥ Adi Kavi Pampa
4. % Gunadhya

Question Number : 93 Question Id : 630680365088 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

1785 38006’ 5701 ZoeN02reN 2SS TI0S D & TR0 HOG BOOMPEIZ SO TG0 FeN, DB 55020
S8 TOS SBNHSTYoW?

Options :

1. ¥ 0°3°Q
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2. % &3S (DTT
3. % 2,87
4. % XSS (DBT

Question Number : 93 Question Id : 630680365088 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

From which of the following states of India the Naqqash families migrated to Telangana in the 17th century, and brought the Nirmal Toys
art with them?

Options :

1. ¥ Rajasthan

2. % Uttar Pradesh

3. # Odisha

4. ® Himachal Pradesh

Question Number : 94 Question Id : 630680365089 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following Telangana dance styles is often described to as the "dance of the warriors"?
Options :

1. ¥ Lambadi

2. % Dappu

3. % Dhimsa

4. ¥ Perini Sivatandavam

Question Number : 94 Question Id : 630680365089 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

806 ¢365" O BLOTPET Sgehs O SSTHM "TITPCNS S9e850"TP DSV E?
Options :

1. % ©02rd

2. % G330

3. % Qor

4. ¥ 003 B3e 0850

Question Number : 95 Question Id : 630680365090 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

&3 1808 ¢3S 65028y BTN B BOELY Tedh (DBNOD Tery) 53 0B e e3BNS) esdasres’
BN BB HOBE DE?

Options :

1. % 22080

2. ¥ @S0 23S

3. % Sorew

4. % &rd

Question Number : 95 Question Id : 630680365090 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which one of the following is the biggest biennial tribal festival in Asia, attracting nearly one crore devotees honouring the twin goddesses
of Sammakka and Saralamma?

Options :

1. ¥ Bathukamma

2. ¥ Medaram Jathara
3. ¥ Bonalu

4. # Ugadi

Question Number : 96 Question Id : 630680365091 Is Question Mandatory : No Calculator : None Response Time : N.A Think
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Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
808 3¢3S° DO BOOT™ED T NAOSQ S0rBG S’ Scn?
Options :
1. ¥ 020008
2. % (3 D83 I0EF S s BIOONO
3. % OoBoNO HATen
4. % JDTOHE S8¢0en

Question Number : 96 Question Id : 630680365091 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which one of the following heritage sites is NOT located in Rangareddy district of Telangana state?
Options :

1. ¥ Bommalammagutta

2. % Sri Cheekati Venkateswara swamy Temple

3. # Lingampalli Cairns

4. % Megalithic burials

Question Number : 97 Question Id : 630680365092 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

BOOMPE) G0 ¢ (38, DOSE 9, STICHB0 OO DB §3°€9) IO 0585315065 eS8
INTARolaY
Options :
1. ¥ 2016
2.% 2017
3. % 2020
4. % 2014

Question Number : 97 Question Id : 630680365092 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The Telangana Heritage (Protection, Preservation, Conservation and Maintenance) Act was enacted in the year of
Options :

1. % 2016

2.%°2017

3. % 2020

4. % 2014

Question Number : 98 Question Id : 630680365093 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

BOOMTED T ROS' €9¢550¢H DV EF ETN0 DSBS 5502 E% 80A a7e3S’ &) (o ToHIE?
Options :

1. % 0?0

2. % $60368

3. s8Hererd

4. % 3808

Question Number : 98 Question Id : 630680365093 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

To which of the following place the very famous art form Nirmal Toys of Telangana state belongs?
Options :

1. ¥ Ramadugu

2. # Karimnagar

3. % Adilabad
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4. % Warangal

Question Number : 99 Question Id : 630680365094 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

BOOMTED TR DO EF° &5 ) EFFPOAOIBOS B0 DAY, HFEN o) oN?
Options :

1. % Srenth

2. % 220

3. % es®

4. % QANA

Question Number : 99 Question Id : 630680365094 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

How many total stages are involved in creating Bidriware art products of Telangana state?
Options :

1. ¥ Four

2. % Five

3. # Six

4.+ Eight

Question Number : 100 Question Id : 630680365095 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

2022-236° BOOMED (D25 S0 THEIS SO FeR/FNCSES %’ A ) FEFTOS S35es §H0
LPRHNE €98 070565 0B DOYP§F | QO(FLN) S°S 580,

Options :

1.¥ 10085

2. % 6008410

3. % 1 0054

4. % 10058

Question Number : 100 Question Id : 630680365095 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

‘Tholi Mettu/First Step’ an initiative of Telangana government in 2022-23 is a Foundational Literacy and Numeracy (FLN) programme for
Grades in all the schools.

Options :

1.¥ 1to5
2. % 6t0 10
3.% 1to4
4. % 1t08

Question Number : 101 Question Id : 630680365096 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : (

2023-24 DT°§ 0N YT, BOOMED (D205 50 D), §H (D205 ¢ NS OO SIrOOD0E?
Options :

1. % 12

2.¥9

3.%5

4. %7

Question Number : 101 Question Id : 630680365096 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
For the academic year 2023-24, how many new Government Medical Colleges have been approved by the Telangana Government?
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Options :
1. % 12
2.9
3.%5
4. %7

Question Number : 102 Question Id : 630680365097 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

JLL-City-Momentum Index-2020 |5°30, (0025063 e9¢h50¢5 BIWE 3¢3 TS’ 37 07erE 07508 Doeh?
Options :

1. % BOCsd

2. % Q00°¢8d

3. ¢ J0csed

4. % P00

Question Number : 102 Question Id : 630680365097 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

According to JLL-City-Momentum Index-2020, what was the rank of Hyderabad in the category of world’s most dynamic city in the city
momentum index?

Options :

1. # Second
2. % Third
3. ¥ First
4. ® Fourth

Question Number : 103 Question Id : 630680365098 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Under the Telangana Dalit Bandhu scheme, each beneficiary of the household is provided with a grant of Rs.:
Options :

1. ¥ 12 lakhs

2. % 5 lakhs

3. % 8 lakhs

4.9 10 lakhs

Question Number : 103 Question Id : 630680365098 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

B0 OPeS 20060 DHE0 808 (D& Fuen02) OIS ©0BOT IS0 &o.
Options :

1. % 208

2. % 508 e

3. % g en

4.4 1008w

Question Number : 104 Question Id : 630680365099 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

808 & H0H$IB0S” BOOMTED (2508550 “BDOOMPEIZD sTOSHFS0” (TKHH) @& (Dol 8 5255 ES5T)),
RPS0DOD0E?

Options :

1. ¥ 2015-16

2. % 2016-17

3. % 2017-18

4. % 2018-19
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Question Number : 104 Question Id : 630680365099 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In which of the following years Telangana government launched the flagship programme “Telangana Ku Haritha Haram (Green Garland
for Telangana)” (TKHH)?

Options :

1. ¥ 2015-16
2. % 2016-17
3. % 2017-18
4. % 2018-19

Question Number : 105 Question Id : 630680365100 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

BOOTPE-er235-e305-2969)E5e08-2023 (D5°S0 95030 SOEEBES (OER) SO BF0S® Sr0mred T2 T°SOS 0es?
Options :

1. ¥ P00

2. ¢ J0e3

3. % BOcdeS

4. % 00°C85

Question Number : 105 Question Id : 630680365100 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is the rank of Telangana state in the country in terms of Oil Extraction (OER) in relation to Oil Palm cultivation as per the
Telangana-Socio-Economic-Outlook-2023?

Options :

1. # Fourth
2. ¥ First
3. # Second
4. ® Third

Question Number : 106 Question Id : 630680365101 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

2015-16 SOBO5M 2021-22 S BOTPE) T RO 58 €565 )8 DO TS0 DOAOE?
Options :

1. % 142%

2. % 242%

3.9 342%

4. ® 442%

Question Number : 106 Question Id : 630680365101 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

By how much percentage the paddy production in the Telangana state has increased between 2015-16 and 2021-22?
Options :

1. % 142%

2. % 242%

3.9 342%

4. % 442%

Question Number : 107 Question Id : 630680365102 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

BOOMTED-T3r235-e305-0959E5e08-2023 (H5°30, 2021-2265° S0P (PHME SFEFO D0G ©2)5 208
FEFTODOE) DO BN DO?

Options :

1. % 67.01%
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2. % 77.01%
3. % 87.01%
4.9 97.01%

Question Number : 107 Question Id : 630680365102 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

As per the Telangana-Socio-Economic-Outlook-2023, what is the transition rates of Primary schools to Upper Primary schools in
Telangana in 2021-22?

Options :

1. % 67.01%
2. % 77.01%
3. % 87.01%
4.9 97.01%

Question Number : 108 Question Id : 630680365103 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

23585 FPID0ENES’ BOOMTED T2 DT°)END O EEOM Y ) (DEE30TE?
Options :

1. ¢ &020 2009

2. % &020 2010

3. % G020 2013

4. % &0205 2006

Question Number : 108 Question Id : 630680365103 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

When was the process of Telangana state formation officially declared in Indian Parliament?
Options :

1. ¥ Dec 2009

2. % Dec 2010

3. % Dec 2013

4. % Dec 2006

Question Number : 109 Question Id : 630680365104 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : (

BOOMPE T8 S €357 A8 H00E0D) AADE AT (DEFPDEL 23778 (DGR 0B & D0Seh B80S
OS$ TS

Options :

1. % 1989

2. %1979

3. ¥ 1969

4. % 1959

Question Number : 109 Question Id : 630680365104 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In which of the following years the Indian Prime minister came up with an eight-point plan regarding the Telangana statehood movement?
Options :

1. ¥ 1989

2. %1979

3.9 1969

4. % 1959

Question Number : 110 Question Id : 630680365105 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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2379, 2023 °¢3 'BOOME) ST IYD @ TR ADAE (DS°B0, 2014-15 S0T°5eh SBOOMTED INBDO DB BED D0OehH?
Options :

1. % 6.5%

2. % 8.5%

3. % 10.5%

4. 12.5%

Question Number : 110 Question Id : 630680365105 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

As per the report, 'Economic Development of Telangana @ Ten' of June, 2023 what is the average growth rate of Telangana post 2014-15?
Options :

1. % 6.5%

2. % 85%

3. % 10.5%

4.9 12.5%

Question Number : 111 Question Id : 630680365106 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

L. M, N, O, P sndomn R e e300 e923ry000en ayTFsee 200 w06 Somrdanaol SN &7) M (A 0
Saoes” SPEJ‘E‘DCD"E)J{‘: 225000 Few). M e9d esemyon P 8 decan 23 mcgm;mvaoeﬁé ERENT) (0. L e esermyon M
OO0g), & HHE P &) . R @ wzrmon P ), oge Ferared 2. R 8 dean 2an myaaguaoeﬁﬁ N
SPENT) €. Sod e O DO 2aDoSBES?

[ | N 2930 N0 S SEL DG DADD G 6D 1 L

| | Pesd eseryom 3 A DIND Toctd gn.aoes‘ D@ | 2 0

| RoR earyon 8 éfe O Dips &) O 3 p

Options :

1. ¥ -3, 1I-1, 112
2. % .2, 1I-1, 111-3
3. % 1-1,11-3, 111-2
4. % -1, 11-2, 111-3

Question Number : 111 Question Id : 630680365106 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Six boys L, M, N, O, P and R are sitting around a circular table facing towards the centre (not necessarily in the same
order). M is third to the left of P. L is to the immediate right of M. R is not the immediate neighbour of P. N is third to

the left of R. Which of the following is correctly matched?

I | N is immediate left of 1 L
IT | P is second to the right of 2 @)
III | R is immediate right of 3 P

Options :

1. ¥ -3, II-1, 1112
2. ® 1.2, 1I-1, I11-3
3. % I-1,11-3, I11-2
4, % 1-1,11-2, 11I-3

Question Number : 112 Question Id : 630680365107 Is Question Mandatory : No Calculator : None Response Time : N.A Think
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Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Eight persons P, Q, R, S, T, U, V and W are seated around a square table — Two on each side, facing towards centre.
There are three lady members and they are not seated next to each other. There is a lady member who is an immediate
neighbour of both Q and T. S, a lady member, is second to the left of U. U is the immediate neighbour of both W and Q.
R is the immediate neighbour of both T and Q. Q. a male member. is seated opposite P, a lady member. Which of the

following is correctly matched?

I | Sis immediate right of | P
II | Opposite of V is 2 vV
Il | T is immediate left of 3 u

Options :

1. % [-2,1I-1, I1I-3
2. % 1.1, 11-3, 1112
3.4 1.2, 11-3, 111-1
4. % -1, 11-2, 11I-3

Question Number : 112 Question Id : 630680365107 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

P.QR S T UV anoain W ed D08 2008 ajgen 28 SEuogrse0 259 wfa SN M - 28 D
G, SoFdaa0TT &%) M. &5 JDDIEG D0od g:)é__s.:;&}eﬁ“ DDA Evbro o Ob! &) ) 20O0ID T 25BTSW D),
D PP T, Q adoin T © gy 208 irv &od. S e 28 20arv, U 8 Jetawd D3 Bocd lgv:mé‘ god. U e9d
58 W andoin Q © agds age Foob. R ed 58 T cndoin Q o agbs e Tam. Q & pman, P ed
VTP BT ETPMNTPY D. 9008 S08 TSS” IO DO 2ADGSDED?

| |S— 3 o5 9d P som 1 .

1|V 8 oo So 2 v

m 1T 8 68m e D) SO 3 U
Options :

1. % -2, 1I-1, 11I-3
2. % [-1,1I-3, TIT-2
3. 1-2, 11-3, I11-1
4. % 1-1,11-2, I11-3

Question Number : 113 Question Id : 630680365108 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

2.8 B0 FHTB0 HoS DB B0 SBB0 S1, S2, S3, S4 SOOI S5 €9 N APEISTEN (B JOTHDGETON. (D Fea°
2,8 TPEE0 S(9 (DB 0I0CRB0E. $4 SHOAW S5 €0 NI BT® DIY (DB 0TI228X5VID 5. S5
S3 8 658 £90 0D (N80T, S4 ST 55 8 £90 S2 Q (DAEHOTTE. S1 DA S2 © NS 2.8 0
19¢3801523¢0e508. €8 Farer ¢S (FeNaPB0 0B HETS0 SEEV) (96023¢0e83) &2 IS DB 1¥00
DeE3?

Options :

1. ¥ S1, 84, S2, S5, S3

2. % 83,84, 82,85, S1

3. % 84, 81,82, 85,3

4. % S1,85,82,84, S3
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Question Number : 113 Question Id : 630680365108 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Five plays S1, S2, S3, S4 and S5 are to be staged from Monday to Friday of a week. On each day, only one play will be staged. S4 and S5
should not the first or last to be staged. S5 should be staged immediately before S3. S2 should be staged immediately after S4. One play is
staged between S1 and S2. What is the correct order of these plays over days (Monday to Friday)?

Options :

1. ¥ S1, S4,S2, S5, S3
2. % 83,84, 82, S5, S1
3. % 84,81, S2,85,S3
4. % S1,8S5,S2,84,S3

Question Number : 114 Question Id : 630680365109 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

808 (0¥ £ 1DEEISEN RS SDTON, €8 (DEEINO STFSEOT FRY DB LSTTEN Qed SOTON. B ) (DEEISEN
B0 BOVS FRATOE D)0 €59 D eDODNIN)EIE 53°¢3Q NS0T HONB0TTE. Q) DEITT D
O, BD IS JEEITTOS” B @8 E0M Qa3 53 (DEEISOK e HIBTTr AFON0TI0A.

DESen:
LP & 85 A 5.
IL §Q) R en A e.

DB gdrS0:

L A& e P 5°e%.

I Q) R e P ow.

Options :

1. ¥ HBIS0 T 37769330 @900

2. % HE5IS0 I 557530 €9 DIBN0A

3. % 106050 I BOCY DBLITTEN €9 NOEI 0N
4. % D DBEIII0 E°cE® @900

Question Number : 114 Question Id : 630680365109 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In the following question below are given some statements followed by some conclusions based on those statements. Taking the given
statements to be true even if they seem to be at variance from commonly known facts, read all the conclusions and then decide which of
the given conclusion logically follows the given statements.

Statements:
I. NoPis A.
II. Some R are A.

Conclusion:
I.NoAisP
II. Some R are P.

Options :

1. ¥ Only conclusion I follows

2. % Only conclusion II follows

3. % Both conclusions I and II follows

4. ¥ Neither conclusion follows

Question Number : 115 Question Id : 630680365110 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

808 1D%).S FQ) 1DFEISEN QI SDT°OW, €8 [DEEISD eGSO FQY HBFITT L) RS L0, /OIS (DFEISEN
S0 BOVS FATOE DS O €59 D 0DODINIE3E a3¢3Q QS0 HORB0TTO. Q) DEsIFT D
O, BN IS JEEITTOS” DB @850 Q35BS (DEEISO NI AFON0TI0A.

DEerSen:

1. @) Hewn G ew.
1. B & e H 5°¢%.
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DB gSdIS0:

L. H A 80°c B 5°¢.

II. @) G ex H e.

ML Q) G e B .

Options :

1. % DG5OI 837750 @9 0OBN0E

2. % DS530 ez 900805

3. ¥ DBRS0 T 37(¢H 330 @900

4. % BOC DB 1a08a%W I € 9O

Question Number : 115 Question Id : 630680365110 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In the following question below are given some statements followed by some conclusions based on those statements. Taking the given
statements to be true even if they seem to be at variance from commonly known facts, read all the conclusions and then decide which of
the given conclusion logically follows the given statements.

Statements:
I. All H are G.
II. No B is H.

Conclusion:
1. No H is B.
II. All G are H.
III. All G are B.

Options :

1. # Only conclusion II follows
2. % Neither conclusion follows
3. % Only conclusion I follows

4. ¥ Both conclusions I and III follows

Question Number : 116 Question Id : 630680365111 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

808 (D% £, 1DFEISEN B SDTOW, € (DEEINO SEFSOT Y DB LSTTEN Red SOTON. B ) (FEISE
SO BOVS FATOE DS O €59 8N 0DODINIE3E a3¢3Q VSO HOXB0TO. @) DS ST e
O, BD IS JEESTTOS” B &850 Q9 593 (DFEISOK @ HIETTr AFoN0I0d.

DEeSen:
1. Q) (B ) 0.
I1. 0% ) ©5)0.

DB SIS 0:

Lo e0d)0 |B&.

I1. §0¢% @95) 0 JIN)..

11 0 |123& I).

Options :

1. % H5E5IS0 1T S5°(69330 €9 DIOON0E

2.9 108050 I € BOCK DBFITTEN €9 NOEI° 0N
3. % 1106050 I € O DB FITTEN €9:DOEIT 0N
4. % DGO I 369530 €900

Question Number : 116 Question Id : 630680365111 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In the following question below are given some statements followed by some conclusions based on those statements. Taking the given
statements to be true even if they seem to be at variance from commonly known facts, read all the conclusions and then decide which of
the given conclusion logically follows the given statements.

Statements:
I. All bread are rice.
II. Some butter are rice.

Conclusion:
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1. Some rice are bread.
II. Some rice are butter.
III. Some bread are butter.

Options :

1. ¥ Only conclusion III follows

2. ¥ Both conclusions I and II follows
3. # Both conclusions II and I1I follows

4. % Only conclusion II follows

Question Number : 117 Question Id : 630680365112 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
(Al STs] fz)&‘:saaé,a’) Q%:Leﬁﬁ , DS drestY VAR Do0EreD Hsednes” CAITIDE0D. S VS ST Cocy

DOFOFTTED QDETON. QN DOFHITOS” IB/DD QDDED DEOI BT DFoOSOE.

DEL®:
L.S>B<T,K>L,L<B<N

bdéé&va‘m:

EL<T

IILN=>S

Options :

1. ¥ HBIS0 T S°(¢H 330 D230 oNS

2. % HEEHS0 11 S (ehad Q230 90N

3. % HE5II0 1 5°Q Bo® DESIS0 11 5°Q & 230 5PN
4. % 1308050 I BOCR DBFITRTEN B0 ONS

Question Number : 117 Question Id : 630680365112 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In the question given below, relationships between different elements are shown in the statements. These
statements are followed by two conclusions. Give answer:

Statements:
LSBT, K==L, L=B<N

Conclusions:

ILL=T
II.N=S

Options :

1. # If only conclusion I is true

2. # If only conclusion II is true

3. ¥ If neither conclusion I nor conclusion II is true

4. % If both conclusions I and II are true

Question Number : 118 Question Id : 630680365113 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A, B, K, L 08050 M @ 500580 DEs0ed $Sa50&0,) 308050 8357803020 8> 1203700, B BBE), 33780260 K 0838w L
© 0B 550305, A TBNEY SANKNY B0 DO 83°B02e Q0. L TBNEY S5A0K0Y, K 0835 M @ 5300 )80
%0365 5°¢30. K 08050 L G30E), 833785030 (8800 &8 300 8358 0e35°30. L A0 K $0T) D806 520 M 0T
28028 5°¢0. Q BRE DTN 2,8 AN 0OASW 2,8 &0y BeY. 2,83 M TBE), S5°&0ye0 KOO

&) Q0NB. O 33503 OB T (5300 Dae3?

Options :

1.%¥ L<B<K<A<M

2. % A<M<K<L<B
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3.% A<B<L<K<M
4 ¥ A<B<K<L<M

Question Number : 118 Question Id : 630680365113 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Age and marks of five students A, B, K, L and M are compared. Marks of B are less than K and L. Age of A is maximum and marks of A
are least. Age of L, K and M is not the least. Sequence of marks of K and L is same as the sequence of their age. Age of L is more than K
but not more than M. No two students have same age and same marks. If marks of M are maximum. What is the correct increasing order
of their marks?

Options :

. ¥ L<B<K<A<M
2. % A<M<K<L<B
3. % A<B<L<K<M
4. ¥ A<B<K<L<M

Question Number : 119 Question Id : 630680365114 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
28 D0 HDYFPON (B3 RS B0B. 133 I8 T DB D&5e357) A5, 180 DD IS DO JOTHTOR.

RH, UE, XB, AY, ?
Options :
1. ¥ BW
2.¥ DV
3. % MG
4. % XY

Question Number : 119 Question Id : 630680365114 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.

RH, UE, XB, AY, ?
Options :
1. ¥ BW
2. ¥ DV
3. % MG
4. % XY

Question Number : 120 Question Id : 630680365115 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
2,8 D0 HDYFPON (363 R B0B. 133 I8 TR DB 1D&5e357) A5, 180 D)5 O JOTHTOR.

FLAR, JFIH, NZQX, RTYN, ?
Options :

1. ¥ NRMH

2. % VQRM

3. ¥ VNGD

4. ¥ NVRC

Question Number : 120 Question Id : 630680365115 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.

FLAR, JFIH, NZQX, RTYN, ?
Options :

1. ¥ NRMH

2. % VQRM
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3. % VNGD
4. % NVRC

Question Number : 121 Question Id : 630680365116 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In the word ‘CLASSMATE’ each letter is replaced by the previous letter as per English alphabetical order. What will be the 5t Jetter from
the left in the new word thus formed?

Options :
l.¥ R
2.% 7
3.%C
4. %D

Question Number : 121 Question Id : 630680365116 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

308 S5 (590 (H5°B0, 'CLASSMATE' @& S0 €98 07 a3°¢3 0 @98 3068 258 Dakhacheron. e9:) )¢
TS DSIAS D0 IR DO 55 9 B0 DNE3?

Options :

1.¥ R

2. % 7

3. % C

4. % D

Question Number : 122 Question Id : 630680365117 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
B0 Q5§23 0PCH0Ten (58 50C0 DOP D DBHE0D), 7 STTSOT (3 OF DIPTTPO0 QD S0&.

(DCH) 624 739 312 675 337 (0B)

D5 0 BOCsS HDOWEETQ 2,81 TR0 TNEY, B0 DO €959)e50E?
Options :

1.+ 81

2. %9

3. % 36

4. % 49

Question Number : 122 Question Id : 630680365117 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Consider the five three digit numbers given below and the answer the questions based on it.

(Left) 624 739 312 675 337 (Right)

What will be the square of unit place of second number from the left?
Options :

1. ¥ 81

2.%9

3. % 36

4. % 49

Question Number : 123 Question Id : 630680365118 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

28 Q0N 88 2706, BATA'®IE 'YZGZ' 99 08050 ‘HULU® @9 ESFOF’ @9 §& BaHad08. e §& 273’ ‘MOTO’
B8, T de3?

Options :

1. ¥ NKFK
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2. ¥ NMGM
3. ¥ NLGL
4. % MLFL

Question Number : 123 Question Id : 630680365118 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In a certain code language, ‘BATA’ is coded as ‘YZGZ’ and ‘HULU’ is coded as ‘SFOF’. What is the code for ‘MOTO” in that code
language?

Options :

1. ¥ NKFK

2. ¥ NMGM

3. ¥ NLGL

4. % MLFL

Question Number : 124 Question Id : 630680365119 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

RS @98 8 DdPsT0, BOCS @8 B0 D38 H02)0EH0DE sDOA5N s303°¢Hed @ F 8 DoTT*0, TS ©@E 8
Q07558 H0DOE0DNE. ©e7°0¢3 H02205°) DA o)), €8 IO 2365 (80835 @F 8 DaNTT0: €885 98 &
DRIT0) DODE TOHOE.

CP:ER:DQ:FS:?
Options :
1.¥ AR : CT

2. % 7R : AT

3. % TQ: VR

4. % BD:ZF

Question Number : 124 Question Id : 630680365119 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Select that missing pair (Fifth letter cluster : Sixth letter cluster) which is related in the same way as the first letter cluster is related to the
second letter cluster and third letter cluster is related to fourth letter cluster.

CP:ER:DQ:FS:?
Options :
1.¥ AR : CT

2. % 7R : AT

3. % TQ: VR

4. % BD:ZF

Question Number : 125 Question Id : 630680365120 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

RS ©9E 8 DasT0, BOCS @8 B0 D38 H02)0H0DE sDOA5N 03°¢He) @5 .8 HoTIT*0, T e0E &
Q07558 SO0, ©e7°0¢3 H0205Q) EDN &) €8 D IFAND 2365 (8065 @95 & DeI*0: e38sd €98 &
DX0I70) DODE TAHOR.

GT:IV:PR:RT::?
Options :

1. % QQ:SO

2. % LL:ZA

3. ¥ HU:JW

4. % BZ:MT

Question Number : 125 Question Id : 630680365120 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Select that missing pair (Fifth letter cluster : Sixth letter cluster) which is related in the same way as the first letter cluster is related to the
second letter cluster and third letter cluster is related to fourth letter cluster.
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GT:IV::PR:RT::?
Options :

1. ¥ QQ:SO

2. % LL:ZA

3. ¥ HU:JW

4. % BZ:MT

Question Number : 126 Question Id : 630680365121 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

808 (D%, AN (HE5e35) A5 0B OO K> e8.80/e98 T°28 oTHEod.
Options :

1. ¥ UX

2. % SW

3. % KO

4. % BF

Question Number : 126 Question Id : 630680365121 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In the following question, select the odd letter/letters from the given alternatives.
Options :

1. ¥ UX

2. % SW

3. ¥ KO

4. % BF

Question Number : 127 Question Id : 630680365122 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

808 (HF)S, et €08 T°ed 23650 RS STTOW. () TINEY ICEeD DI €5d) €08 Ten (—) TBNEY H0& B &d)
©ZT°OS §Foch $5)0/Q0000/K02200 DO EOR E0EToN. T 65)0/A0NN0/H020850 STrEomr
B07°¢8) 2,307 &0, 2,8¢3 S0 HOLNOA. YD (DE5e357) O85> 0 DY 0 &), 7)), JOTHEOR.
Options :

1. % EV—-HS

2. % OQ-RN

3. ¥ NQ - QP

4. % Jp MM

Question Number : 127 Question Id : 630680365122 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : (

In the following question, four letter pairs are given. The letters on left side of (-) is related to the letters on the right side of (—) with some
Logic/Rule/Relation. Three are similar on basis of same Logic/Rule/Relation. Select the odd one out from the given alternatives.

Options :

1. ¥ EV-HS
2. % OQ-RN
3. ¥ NQ-QP
4. % JP - MM

Question Number : 128 Question Id : 630680365123 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
808 (D%, B3NS BBS” 7 Y& Do JoTHE 0.

1,2,9,22,73,?
Options :
1. % 220

52/67



14/09/2023, 11:26
2.%210
3. % 228
4. % 231

Question Number : 128 Question Id : 630680365123 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
In the following question, select the missing number from the given series.

1,2,9,22,73,?
Options :
1. ¥ 220
2.9°210
3. % 228
4. % 23]

Question Number : 129 Question Id : 630680365124 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The interchange of which of the following two numbers (not digits) will make the given equation correct?

8-3xXx6+4+1=2
Options :

1. % 8and 4

2. % 6and 4

3. % 3and 4

4. % 8and 1

Question Number : 129 Question Id : 630680365124 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
2 Boew QODFORD (90SVR TEV) DOVNTO DFGNCE0 TFO° S DREGE0 DTHE e9:NE0E?

8-3x6+4+1=2
Options :

1. % 80805 4

2. % 60805 4

3. % 308504

4. % 8080w 1

Question Number : 130 Question Id : 630680365125 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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The bar graph given below shows the production of car by two companies (P and Q) in 6 years (Y1, Y2, Y3, Y4, Y5,
Y6).

1100 1000
800
700
600 600
500
400
300
200 =
II 100

Y1 Y2 Y3 Y4 Y5 Y6
OP ®mQ

Which of the following statements is correct?
I. The average production of car by company P in Y1, Y3 and Y6 are 500.
II. The Production of car by Q in Y2 is 30 percent less than the production of car by Q in Y4.

III. The ratio of the production of car by Q in Y5 to the production of car by Pin Y4 is 10 : 1.
Options :

1. # Only III

2.9 Only |

3. % Jand I

4. % Tand I

Question Number : 130 Question Id : 630680365125 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
3065 QDA E20) FardPo 6 Dodeyore (Y1, Y2, Y3, Y4, Y5, Y6) &5° Socd Sodde (P andain Q) 50

EENDD BB,

1100 1000

700

800
600 600
500
400
300
200 il
I 100
Y1 N2 ¥

Y4 Y5 Y6
OP mQ
00 DSIVES" DB DBHO?

L Y1, Y3 a08010 Ye o0& S0 P orqoe s°g aig), 20iew &4 500.
1 Y2 &5° Q 300 5°g &63y8 Y4 &° Q S0 5°¢ &yD 5ol 30 360 S,

. Ys &° Q 8322 5°¢ e:2d8 20000 Y4 &° P 300 570 €3 o Dind 10+ 1.
Options :
IR IR ER
2.9 T S5 ($
3. % 108w I
4. % 106a8 III

Question Number : 131 Question Id : 630680365126 Is Question Mandatory : No Calculator : None Response Time : N.A Think
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Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Select the most appropriate option for the given blank.

She is smart and innocent girl.
Options :

1.¥a

2. % an

3. % the

4. % No article

Question Number : 131 Question Id : 630680365126 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Select the most appropriate option for the given blank.

She is smart and innocent girl.
Options :

1.9 a

2. % an

3. % the

4. ¥ No article

Question Number : 132 Question Id : 630680365127 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Select the most appropriate option for the given blank.

Let us all meet at dinner.
Options :

1. % a

2. % an

3. % the

4. % No article

Question Number : 132 Question Id : 630680365127 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Select the most appropriate option for the given blank.

Let us all meet at dinner.
Options :

1.% a

2. % an

3. % the

4. ¥ No article

Question Number : 133 Question Id : 630680365128 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Select the most appropriate option for the given blank.

She is Nashik in Maharashtra.
Options :

1. ® through

2. % from

3. % of

4. % on

Question Number : 133 Question Id : 630680365128 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0
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Correct Marks : 1 Wrong Marks : 0
Select the most appropriate option for the given blank.

She is Nashik in Maharashtra.
Options :

1. # through

2. % from

3. % of

4. % on

Question Number : 134 Question Id : 630680365129 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Select the most appropriate option for the given blank.

When are they down from Jaipur?
Options :

1. ¥ drove

2. % drives

3. ¥ driving

4. % drive

Question Number : 134 Question Id : 630680365129 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Select the most appropriate option for the given blank.

When are they down from Jaipur?
Options :

1. # drove

2. % drives

3. % driving

4. % drive

Question Number : 135 Question Id : 630680365130 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Find the part of the sentence that has a grammatical error.

The doctor has found out that the patient is not been taking his medicine.
Options :

1. ¥ The doctor has found

2. ¥ out that the patient is not

3. ¥ been taking his medicine

4. % No error

Question Number : 135 Question Id : 630680365130 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Find the part of the sentence that has a grammatical error.

The doctor has found out that the patient is not been taking his medicine.
Options :

1. ¥ The doctor has found

2. % out that the patient is not

3. # been taking his medicine

4. % No error

Question Number : 136 Question Id : 630680365131 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Find the part of the sentence that has a grammatical error.

Take an umbrella (a)/ with you as it (b)/ might rain later (c)/ No error (d).
Options :

1. ¥ Take an umbrella

2. % with you as it

3. ¥ might rain later

4. ¥ No error

Question Number : 136 Question Id : 630680365131 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Find the part of the sentence that has a grammatical error.

Take an umbrella (a)/ with you as it (b)/ might rain later (c)/ No error (d).
Options :

1. ¥ Take an umbrella

2. % with you as it

3. # might rain later

4.+ No error

Question Number : 137 Question Id : 630680365132 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Match the following idioms in List A with their meanings in List B.

A B
(1) Snugasabugina (i) To be so involved in trivial matters
g that you don’t get the important facts

(2) | Step up your game (ii) | To go insane

(3) To not see the wood | (iii) | To start performing better

for the trees

(4) Lose your marbles (iv) | Warm and cosy

Options :

L% (1) = (iii); (2) = (v); (3) — (i); (4) — (ii)
2. % (1) (iv); (2) = (id); (3) — (i); (4) — (i)
3.9 (1) = (iv); (2) - (iid); (3) — (@); (4) — (i)
4. % (1) = (id); (2) = (iv); (3) — (i); (4) — (i)

Question Number : 137 Question Id : 630680365132 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Match the following idioms in Iist A with their meanings in List B.

A B
(1) Snugasabugina (1) To be so involved in frivial matters
g that you don’t get the important facts

(2) | Step up your game (ii) | To go insane

(3) To not see the wood | (iii) | To start performing better

for the trees

(4) Lose your marbles (iv) | Warm and cosy

Options :

L% (1) = (iii); (2) — (iv); (3) = (1); (4) - (ii)
2. % (1) = (iv); (2) — (iD); (3) — (i); (4) — (i)
3.9 (1) = (iv); (2) — (iii); (3) — (i); (4) — (i)
4. % (1)~ (i) (2) — (iv); (3) — (1) (4) — (i)

Question Number : 138 Question Id : 630680365133 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Match the following idioms in List A with their meanings in List B.

A B
(1) | Once in a blue moon (i) To playfully tease someone
(2) | Through thick and thin (ii) To putting futile efforts
(3) | To pull someone’s legs (iii)y | Very rarely
(4) | Beat a dead horse (iv) Under all circumstances

Options :

L (1) = (iii); (2) - (iv); (3) — (i); (4) — (ii)
2. % (1)~ (0); (2) — (iv); (3) — (ii); (4) — (i)
3. % (1) - (iii); (2) - (iv); (3) — (ii); (4) - (@)
4. % (1) = (iv); (2) - (id); (3) — (0); (4) — (i)

Question Number : 138 Question Id : 630680365133 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Match the following idioms in I ist A with their meanings in List B.

A B
(1) | Once in a blue moon (i) To playfully tease someone
(2) | Through thick and thin (ii) To putting futile efforts
(3) | To pull someone’s legs (iii) | Very rarely
(4) | Beat a dead horse (iv) Under all circumstances

Options :

L (1) = (iii); (2) = (iv); (3) — (0); (4) — (ii)
2. % ()= (0); (2) - (iv); (3) — (ii); (4) — (i)
3. % (1) (ii); (2) - (iv); (3) — (ii); (4) — (D)
4. % (1) = (iv); (2) - (iid); (3) — (0); (4) - (ii)
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Question Number : 139 Question Id : 630680365134 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following pair of proverbs is correct?

I. Good things come to those who wait/ If you are patient, good things can happen
II. Don’t bite the hand that feeds you/ Don’t hurt someone who is helping you

Options :

1. % Only I

2. % Only II

3.+ Both I and I
4. ® Neither I nor II

Question Number : 139 Question Id : 630680365134 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following pair of proverbs is correct?

I. Good things come to those who wait/ If you are patient, good things can happen
II. Don’t bite the hand that feeds you/ Don’t hurt someone who is helping you

Options :

1. % Only I

2. % Only II

3. % Both I and IT
4. % Neither I nor I1

Question Number : 140 Question Id : 630680365135 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following pair follow the word — antonym relation?

I. Pertinent — Jovial
II. Shrink — Expand
1. Graceful — Agile
IV. Defeat — Maker

Options :

1. ¥ Only II

2. % Both I and II
3. % I 1L, Il and IV
4. % Only IV

Question Number : 140 Question Id : 630680365135 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following pair follow the word — antonym relation?

I. Pertinent — Jovial
II. Shrink — Expand
1. Graceful — Agile
IV. Defeat — Maker

Options :

1. % Only II

2. % BothIandII
3. % I II, Il and IV
4. % Only IV

Question Number : 141 Question Id : 630680365136 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Match the following words in List A with their synonyms in List B.

A B
(1) Restraint (1) Refusal
(2) Flatter (i) Discipline
(3) Denial (iii) Praise
(4) Receded (iv) Decreased

Options :

L% (1) - (iii); (2) - (0); 3) — (ii); (4) — (iv)
2.9 (1) = (ii); (2) = (iid); (3) — (); (4) = (iv)
3.% ()= () (@)= (i); (3) — (iii); (4) — (iv)
4. % (1) - (i) (2) - (@); (3) — (iii); (4) — (iv)

Question Number : 141 Question Id : 630680365136 Is Question Mandatory : No Calculator : None Response Time : N.A Think

Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Match the following words in List A with their synonyms in List B.

A B
(1) Restraint (1) Refusal
(2) Flatter (ii) Discipline
(3) Denial (iii) Praise
(4) Receded (iv) Decreased

Options :

L% (1) - (iii); (2) - (0); 3) — (ii); (4) — (iv)
2.9 (1) = (ii); (2) = (iid); (3) — (); (4) — (iv)
3.% ()= (@) (2) = (i); (3) — (iii); (4) — (iv)
4. % (1) - (i) (2) - (@); (3) — (iii); (4) — (iv)

Question Number : 142 Question Id : 630680365137 Is Question Mandatory : No Calculator : None Response Time : N.A Think

Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Match the following words in List A with their synonyms in List B.

A B
(1) Steward (i) Craven
(2) Explicit (ii) Obvious
(3) Apparent (iii) Servant
(4) Coward (iv) Express
Options :

L ¥ (1) = (iii); (2) - (iv); (3) = (iD); (4) = (D)
2.% (1) = (iv); (2) = (iid); (3) = (i); (4) — (i)
3% ()= (1) (2)— (i) 3) — (iv); (4) — (i)
4% (1) = (i); (2) = (0); (3) = (iid); (4) = (iv)

Question Number : 142 Question Id : 630680365137 Is Question Mandatory : No Calculator : None Response Time : N.A Think

Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
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Match the following words in List A with their synonyms in List B.

A B
(1) Steward (1) Craven
(2) Explicit (ii) Obvious
(3) Apparent (iii) Servant
(4) Coward (iv) Express

Options :

L (1) = (iii); (2) - (iv); (3) — (ii); (4) — (D)
2. % (D)= (v); (2) = (i) (3) = (0); (4) — (i)
3.% (1)) (2) - (iD); (3) = (iv); (4) — (i)
4. % (1) - (id); (2) - (0); (3) — (iii); (4) - (iv)

Question Number : 143 Question Id : 630680365138 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following sentences is spelled correctly?

I. Surrounded by fawning courtiers by a multitude of people who had come to see him, he was suddenly overcome by a sense of grandeur.
I1. She lived in a little bit of a cottage and earned a scant living by running errands for her neighbors.

Options :

1.+ Only I

2. % Only II

3. % BothIandII
4. # Neither I nor II

Question Number : 143 Question Id : 630680365138 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following sentences is spelled correctly?

1. Surrounded by fawning courtiers by a multitude of people who had come to see him, he was suddenly overcome by a sense of grandeur.
I1. She lived in a little bit of a cottage and earned a scant living by running errands for her neighbors.

Options :

1. ¥ Only I

2. % Only II

3. % Both Iand II
4. # Neither I nor II

Question Number : 144 Question Id : 630680365139 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Match the following phrase in List A with their one-word substitution in List B.

A B
(1) | Gibber (i) | a person employed to drive a private automobile or limousine for the owner
(2) | Cackle (i) | to speak inarticulately or meaninglessly

(3) | Invigilator | (iii) | to utter a shrill, broken sound or cry, as of a hen

(4) | Chauffeur | (iv) | A person to keep watch, usually during an examination

Options :

L% (1) - (i); (2) - (1); (3) = (iv); (4) - (ii)
2.9 (1) = (ii); (2) = (iid); (3) — (iv); (4) — (i)
3% (D)= ()5 (2) = (iv); (3) — (iii); (4) — (ii)
4. % (1) = (iv); (2) = (iii); 3) = (); (9 — (@)
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Question Number : 144 Question Id : 630680365139 Is Question Mandatory : No Calculator : None Response Time : N.A Think

Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Match the following phrase in List A with their one-word substitution in List B.

A B
(1) | Gibber (i) | a person employed to drive a private automobile or limousine for the owner
2) | Cackle (ii) | to speak inarticulately or meaninglessly
(3) | Invigilator | (iii) | to utter a shrill, broken sound or cry, as of a hen
(4) | Chauffeur | (iv) | A person to keep watch, usually during an examination

Options :

L% (1) = (iii); (2) = (0); (3) = (iv); (4) — (ii)
2. ¥ (1) — (ii); (2) — (iii); 3) — (iv); (4) - (D)
3% (D)= (0); (@) (v); (3) — (ii); (4) — (i)
4. % (1) = (iv); (2) = (iii); 3) = (0); (9 - (@)

Question Number : 145 Question Id : 630680365140 Is Question Mandatory : No Calculator : None Response Time : N.A Think

Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Match the following phrase in List B with their one-word substitution in List A.

A B
(1) | Horticulture (1) the act of killing one's own father
(2) | Twitter (ii) something used as or resembling a trumpet
(3) | Trumpet (iii) | the science and art of cultivating such plants
(4) | Patricide (iv) to utter a succession of small calls as a bird
Options :

L ¥ (1) = (iii); (2) - (iv); 3) = (ii); (4) — (i)
2. % ()= (iv); (2) = (ii); (3) = (i); (4) — (ii)
3% (D)= (1) (2) = (1D); 3) = (iv); (4) — (i)
4. % (1) = (1) (2) = (); 3) — (iii); (4) — (iv)

Question Number : 145 Question Id : 630680365140 Is Question Mandatory : No Calculator : None Response Time : N.A Think

Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Match the following phrase in List B with their one-word substitution in List A.

A B
(1) | Horticulture (i) the act of killing one's own father
(2) | Twitter (ii) something used as or resembling a trumpet
(3) | Trumpet (iii) | the science and art of cultivating such plants
(4) | Patricide (iv) to utter a succession of small calls as a bird
Options :

L9 (1) = (iii); (2) - (iv); 3) = (iD); (4) = (i)
2. % ()= (iv); (2) = (ii); (3) = (i); (4) — (ii)
3% (D)= (1) (@)= (); (3) = (iv); (4) — (i)
4. % (1) = (ii); (2) = (i); (3) — (iii); (4) — (iv)
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Question Number : 146 Question Id : 630680365141 Is Question Mandatory : No Calculator : None Response Time : N.A Think

Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Match the following phrase in List A with their one-word substitution in List B.

A B
(1) | Uxoricide (i someone who hates men
(2) | Compere (ii) the act of murdering one's wife
(3) | Bohemian (iii) | pertaining to or characteristic of the unconventional life
(4) | Misandrist (iv) | ahost

Options :

L% (1) = (iii); (2) - (1); 3) = (iD); (4) = (iv)
2. % ()= (iD); (2) = (iv); (3) = (0); (4) — (i)
3% (D)= (1); ()= (iv); (3) = (ii); (4) — (ii)
4.9 (1) — (ii); (2) — (iv); (3) — (iii); (4) — ()

Question Number : 146 Question Id : 630680365141 Is Question Mandatory : No Calculator : None Response Time : N.A Think

Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Match the following phrase in List A with their one-word substitution in List B.

A B
(1) | Uxoricide (i someone who hates men
(2) | Compere (ii) the act of murdering one's wife
(3) | Bohemian (iii) | pertaining to or characteristic of the unconventional life
(4) | Misandrist (iv) | ahost

Options :

L% (1) = (Gii); (2) - (0); 3) = (iD); (4) = (iv)
2. % (1) = (iD); (2) = (iv); (3) = (i); (4) — (i)
3% (D)= (1); ()= (iv); (3) = (ii); (4) — (ii)
4.9 (1) = (ii); (2) = (iv); (3) = (iid); (4) — ()

Is Section Default? :

null

Question Id : 630680365142 Sub Question Shuffling Allowed : Yes Group Comprehension Questions : No Question Pattern Type :

NonMatrix Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (147 to 150)
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Read the following information carefully and answer the given questions.

The destruction of tropical forest is a major contributor to biodiversity loss
and the climate crisis. In response. conservationists and scientists like us
are debating how to best catalyse recovery of these forests. How do you
take a patch of earth littered with tree stumps. or even a grassy pasture or
palm oil plantation. and turn it back into a thriving forest filled with its
original species?

Foresters have traditionally relied on planting trees. which seems obvious
enough. Yet this approach has aftracted criticism from some restoration
ecologists, who argue that planting and caring for young trees is expensive
and an inefficient use of scarce resources. They also point out that the
carbon locked up in growing trees is quickly released into the atmosphere
if plantations are harvested and used for short-lived wood products such
as paper or cardboard.

There are even some well-documented case studies where tree planting has
had negative outcomes. For instance. when forest cover was expanded on
the Loess Plateau in China. soil erosion increased and there was less water
available for people and agriculture. In Chile. subsidies for tree planting
created a perverse incentive to plant trees instead of conserving natural
forests. In the period between 2006 and 2011, the policy triggered a loss of
natural forest cover and no net change in the amount of carbon stored in
trees across the country.

The alternative approach is referred to as natural regeneration. This
generally means protecting the area you want to regrow, perhaps with
fences or new legislation, and then letting the forest recover spontaneously
through dormant seeds lying buried in soil or with seeds dispersed by wind
or animals.

Natural regeneration has many advantages: it requires limited infrastructure
or technical know-how and is often cheap to implement. There is also
widespread evidence that natural regeneration has been effective at
catalysing the recovery of forest biomass and biodiversity. It is tempting to
view natural regeneration as a win-win solution for economic development
and the environment.

Natural regeneration often relies on animals to disperse the seeds. But in
many tropical forests these animals. especially the larger birds and
mammals that disperse the largest seeds. have been severely depleted by
hunting. In the Atlantic forests of Brazil, trees with larger seeds have more
dense wood, and loss of large seed-dispersing mammals and birds such as
tapirs and toucans may result in recovering forests becoming dominated by
light-wooded trees which store less carbon.

Tropical forests often regenerate naturally on abandoned lands distant from
the original, untouched forests. Yet if limitations on seed dispersal mean
they lack the tree species that were originally dominant, then these young
forests will store carbon less quickly and become home to fewer animal
species.

Sub questions

Question Number : 147 Question Id : 630680365143 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
What is the main idea of the given passage?
Options :

1. ¢ It discusses the alternatives available for regrowing a tropical forest.
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2. # It explains how natural regeneration is done.
3. # It elucidates the limitations of planting trees.

4. # It condemns the ongoing practice of hunting animals in forest.

Question Number : 148 Question Id : 630680365144 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Why some restoration ecologist criticized the choice of planting trees?
Options :

1. ¥ There was no verified evidence that supports planting new trees.

2. % Asin many places insects and bees are not in abundance for pollination.
3.+ As it is expensive and required the utilization of scarce resources.

4. % Because there is a dearth of carbon locked up in growing trees.

Question Number : 149 Question Id : 630680365145 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What negative outcomes did China face for planting new trees on the Loess Plateau?
Options :

1. # Forest biomass and biodiversity got affected heavily.

2. ¥ There was scarcity of water for people and agriculture.

3. ¥ Soil structure remained stable.

4. % No money left for conserving forests.

Question Number : 150 Question Id : 630680365146 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which word means the same as-‘perverse’ as used in the passage?
Options :

1. # Germane

2. % Superficial

3. # Complying

4. ¥ Aberrant

Question Id : 630680365142 Sub Question Shuffling Allowed : Yes Group Comprehension Questions : No Question Pattern Type :
NonMatrix Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (147 to 150)
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Read the following information carefully and answer the given questions.

The destruction of tropical forest is a major contributor to biodiversity loss
and the climate crisis. In response. conservationists and scientists like us
are debating how to best catalyse recovery of these forests. How do you
take a patch of earth littered with tree stumps. or even a grassy pasture or
palm oil plantation. and turn it back into a thriving forest filled with its
original species?

Foresters have traditionally relied on planting trees. which seems obvious
enough. Yet this approach has aftracted criticism from some restoration
ecologists, who argue that planting and caring for young trees is expensive
and an inefficient use of scarce resources. They also point out that the
carbon locked up in growing trees is quickly released into the atmosphere
if plantations are harvested and used for short-lived wood products such
as paper or cardboard.

There are even some well-documented case studies where tree planting has
had negative outcomes. For instance. when forest cover was expanded on
the Loess Plateau in China. soil erosion increased and there was less water
available for people and agriculture. In Chile. subsidies for tree planting
created a perverse incentive to plant trees instead of conserving natural
forests. In the period between 2006 and 2011, the policy triggered a loss of
natural forest cover and no net change in the amount of carbon stored in
trees across the country.

The alternative approach is referred to as natural regeneration. This
generally means protecting the area you want to regrow, perhaps with
fences or new legislation, and then letting the forest recover spontaneously
through dormant seeds lying buried in soil or with seeds dispersed by wind
or animals.

Natural regeneration has many advantages: it requires limited infrastructure
or technical know-how and is often cheap to implement. There is also
widespread evidence that natural regeneration has been effective at
catalysing the recovery of forest biomass and biodiversity. It is tempting to
view natural regeneration as a win-win solution for economic development
and the environment.

Natural regeneration often relies on animals to disperse the seeds. But in
many tropical forests these animals. especially the larger birds and
mammals that disperse the largest seeds. have been severely depleted by
hunting. In the Atlantic forests of Brazil, trees with larger seeds have more
dense wood, and loss of large seed-dispersing mammals and birds such as
tapirs and toucans may result in recovering forests becoming dominated by
light-wooded trees which store less carbon.

Tropical forests often regenerate naturally on abandoned lands distant from
the original, untouched forests. Yet if limitations on seed dispersal mean
they lack the tree species that were originally dominant, then these young
forests will store carbon less quickly and become home to fewer animal
species.

Sub questions

Question Number : 147 Question Id : 630680365143 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
What is the main idea of the given passage?
Options :

1. ¢ It discusses the alternatives available for regrowing a tropical forest.
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2. # It explains how natural regeneration is done.
3. # It elucidates the limitations of planting trees.

4. # It condemns the ongoing practice of hunting animals in forest.

Question Number : 148 Question Id : 630680365144 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Why some restoration ecologist criticized the choice of planting trees?
Options :

1. ¥ There was no verified evidence that supports planting new trees.

2. % Asin many places insects and bees are not in abundance for pollination.
3.+ As it is expensive and required the utilization of scarce resources.

4. % Because there is a dearth of carbon locked up in growing trees.

Question Number : 149 Question Id : 630680365145 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What negative outcomes did China face for planting new trees on the Loess Plateau?
Options :

1. # Forest biomass and biodiversity got affected heavily.

2. ¥ There was scarcity of water for people and agriculture.

3. ¥ Soil structure remained stable.

4. % No money left for conserving forests.

Question Number : 150 Question Id : 630680365146 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which word means the same as-‘perverse’ as used in the passage?
Options :

1. # Germane

2. % Superficial

3. # Complying

4. ¥ Aberrant
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